UGC NET 2022 ANTHROPOLOGY

Topic:- 007_PARTA_S2
D The first skull cap of Pithecanthropus was found in:
1. Africa
2. Java
3. America
4. Australia

fOuSH=ITTg &1 UyH GurR 91y del gidr T8 Yl ?
1. Wi
2. Sl
3. AN
4, SmETeT

[Question ID = 101][Question Description = 101_7_ANTH_OCT22_S2_QO01]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

2) In humans, foramen magnum Is located on which side?
1. Anterior
2. Dorsal
3. Lateral
4. Ventral
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[Question ID = 102][Question Description = 102_7_ANTH_OCT22_S2_Q02]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



3 - . "
) Which one amaong the following is closest to medern man?

1. Cro Magnon man
2. Peking man

3. Java Man

4. Neanderthal man
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[Question ID = 103][Question Description = 103_7_ANTH_OCT22_S2_QO03]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

4 Which of the following pair is correct?

1. Australepithecus - Australia
2. Dryopithecus - Indonesia
3. Oreopithecus - Brazil

4. Homo habilis - Africa
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[Question ID = 104][Question Description = 104_7_ANTH_OCT22_S2_QO04]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

%) Narrow nasal septum with nostrils set close togetheris the

charactenstic feature of ;
1. Platyrrhini
2. Hominidae
3. Pongidae
4, Catarrhini



IRy S AT d@i a9 fhae) Afieate
[CELGIES
1. Wil
2. BiffFATS
gififs
Fare

o

[Question ID = 105][Question Description = 105_7_ANTH_OCT22_S2_QO05]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

6) Who discovered the Australopithecus ofarensis?

1. Donald Johanson
2. Mary Leakey

3. Raymond Dart
4. C, Loring Brace
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[Question ID = 106][Question Description = 106_7_ANTH_OCT22_S2_Q06]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

7 Red bload cells placed in distilled water will ;

1. Swell as water moves-inte the cells by osmosis

2. Shrink as sodium moves out of the cells by diffusion

3. Shrink as proteins move out of the cell by diffusion

4. Remain unchanged because of homeastatic
mechanisms
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[Question ID = 107][Question Description = 107_7_ANTH_OCT22_S2_Q07]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

8) Which of the following is responsible for skin

pigmentation?
1. Melanin
2. Keratin
3. Sebum
4 Dermicidin
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[Question ID = 108][Question Description = 108_7_ANTH_OCT22_S2_QO08]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

%) All of the following benes form the skull, except the:

1. Hyoid bone

2, Mandible

3. Mauxilla

4. Zygomatic bone
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[Question ID = 109][Question Description = 109_7_ANTH_OCT22_S2_Q09]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

10) Which of the following helps to distinguish the skeleton of

a male from that of a female?
1. Measuring the length of the femur and humerus
2. Examining the shape of the skull
3. Examining bone density
4. Examining the pelvic opening
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[Question ID = 110][Question Description = 110_7_ANTH_OCT22_S2_Q10]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

11 .
) The human genome contains about ;

1. 20,000 genes:
2.30,000 genes:
3.35,000 genes:
4. 40,000 genes:
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[Question ID = 111][Question Description = 111_7_ANTH_OCT22_S2_Q11]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

12)

An example of X-linked dominant inheritance is ;
1. GBPD deficiency
2. Hypophosphatemia
3. Colour blindness
4. Alpha thalassemia

x -Feigs uyrd! 49HY &1 JaeT & -
1. 51 6 ST @1 @l

2. SISUGERC (T
FOTTeT

A
e

4. 37eRT St

[Question ID = 112][Question Description = 112_7_ANTH_OCT22_S2_Q12]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



13)

Speciation through adaptation is known as ;
1. Darwiniar gradualism
2. Lamarckism
3. Punctuated squilibrium
4. Spencerism
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[Question ID = 113][Question Description = 113_7_ANTH_OCT22_S2_Q13]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

14) The "Maolecular Clock” coneept was given by:

1. Landsteiner and Weiner
2. Sarich and Wilson

3. Weiner and Laurie

4. Levine and Stetson
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[Question ID = 114][Question Description = 114_7_ANTH_OCT22_S2_Q14]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

19) Visual Predation Hypothesis was giver by :

1. Matt Cartmill

2. Charles Darwin
3. A. R Wallace

4, Herbert Spencer



= - sy Sl e e g 4 7
1. B BT
2. =18 BifaA
3.7, 3R, 909
4 TEE WO

[Question ID = 115][Question Description = 115_7_ANTH_OCT22_S2_Q15]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

16) The first ever discovery of Australopithecus fossil came

from:
1. Sterkfontein
2. Swartkrans
3. Taung
4. Olduvai Gorge
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[Question ID = 116][Question Description = 116_7_ANTH_OCT22_S2_Q16]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

17) A unilineal descent group in a society that is divided into
two such maximal groups is called;

1. Phratry

2. Maximal lineage

3. Patrilineage

4. Moiety
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[Question ID = 117][Question Description = 117_7_ANTH_OCT22_S2_Q17]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]



3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

18)

According to Lévi-Strauss, a third of all descent systems
have both patrilines and matrilines, creating more complex
kin relations which are called as;

1. Kindred

2. Omaha Kin Systems

3. Bilineal Kin systerms

4. Cognatic
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[Question ID = 118][Question Description = 118_7_ANTH_OCT22_S2_Q18]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

19) Whe among the follewing described incest prohibitions as

mianifestations of the transition from blood-relatedness
{nature) to social alliances (culture)?

1. Levi-Strauss

2. Sherry Ortner

3. Robin Fox

4. Emile Durkheim
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[Question ID = 119][Question Description = 119_7_ANTH_OCT22_S2_Q19]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]



20) Which of the following ferms an important basis for

organization of labour among non-industrial societies?
1. Voluntary labour
2. Reciproaity
5. Contract
4. Kinship ties
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[Question ID = 120][Question Description = 120_7_ANTH_OCT22_S2_Q20]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

21) Which Anthropologist amaong the following insisted on the

intensive use of computers for documentation and analysis
even during 1950s 7

1. Norbert Wiener

2. Gregory Batesen

3. Evans-Pritchard

4, Claude Levi-Strauss
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[Question ID = 121][Question Description = 121_7_ANTH_OCT22_S2_Q21]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]



22) Which Symbaolic Anthropologist defined culture as a'set of

"definitions, premises, postulates, presumpticns,
propositions and perceptions about the nature of the
universe and man's place in it" 7

1. Victor Turner

2. David Schneider

3. Mary Douglas

4. Roy Rappaport
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[Question ID = 122][Question Description = 122_7_ANTH_OCT22_S2_Q22]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

23) Which of the following are referred as the two lineages of

British Social Anthropology- Biopsychological
Functionalism and Sociological Structural Functionalism?
1. Agency and Structure
2. Materialism and Abstraction
3. Social stability and Change
4. Individual and Society
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[Question ID = 123][Question Description = 123_7_ANTH_OCT22_S2_Q23]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



24) Which Anthropolegist first used the term Multilinear

evolution?
1. Robert H, Lowie
2. Julian Steward
3. Matshall Sahlins
4. Leslie White
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[Question ID = 124][Question Description = 124_7_ANTH_OCT22_S2_Q24]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

25) Which of the following concepts is very close to

sanskritization?
1. Great Tradition
2. Little Tradition
3. Universalization
4, Parochialisation
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[Question ID = 125][Question Description = 125_7_ANTH_OCT22_S2_Q25]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

26) Which of the following is a dichotomy?

1. Community-Society
2, Trait-Complex

3. Caste-Class

4. Structure-Function
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[Question ID = 126][Question Description = 126_7_ANTH_OCT22_S2_Q26]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

27) Which of the following is understood as “the intangible

resources existing in'social ties, trust and cooperation'?
1. Social Capital
2. Cultural Capital
3. Economic Capital
4, Socie-cultural Capital
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[Question ID = 127][Question Description = 127_7_ANTH_OCT22_S2_Q27]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

28) Which of the following secures the right to distinct

language, script or culture?
1. Article-350
2. Article-275
3. Article-244
4. Article-330
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[Question ID = 128][Question Description = 128_7_ANTH_OCT22_S2_Q28]
1. 1 [Option ID = 509]



2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

29) Which among the following is a blurred gender category

found amorig some American Indians, usually referring to
a person who is biologically male but who takes on a
female gender role?

1. Couvade

2. Amazon

3. Berdache

4, Kathoey
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[Question ID = 129][Question Description = 129_7_ANTH_OCT22_S2_Q29]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

30 Which of the following is a positive result-from a healing

method due to symbolic or otherwise nonmaterial factor?
1. Placebo effect
2. Medicalization
3. Symbolic performances’
4. Magico-religious performances
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[Question ID = 130][Question Description = 130_7_ANTH_OCT22_S2_Q30]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



30 Which of the following studies is done to predict the likely

social costs and benefits of specific innovatiens even
before change takes place?

1. Rapid rural pricing

2. Social transformation

3. Disaster management

4. Social impact assessment
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[Question ID = 131][Question Description = 131_7_ANTH_OCT22_S2_Q31]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

32) Wheo ameng the following has-studied six Japanese owned

firms in the United States to understand the impact of both
the larger culture and the organizational culture of the
workplace?

1. Andrew Miracle

2. Gerry P. Ferraro

3. Jill Kleinberg

4. Robert J. Morais
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[Question ID = 132][Question Description = 132_7_ANTH_OCT22_S2_Q32]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]



33) " Which of the following is a "kill" site?

1. Boxgrove
2. Lascaux

3. Altamira

4, Le Moustier
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[Question ID = 133][Question Description = 133_7_ANTH_OCT22_S2_Q33]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

34) Which of the following toels is double-shouldered as a

rule?
1. Gravettian point
2, Ahrensburgain paint
3. Hamburgian paint
4. Solutrean leaf point
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[Question ID = 134][Question Description = 134_7_ANTH_OCT22_S2_Q34]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

35 Which dating method is associated with "battleship

gurves’?
1. Fluorine estimation
2. Seriation
3. Varve clay
4. Cross-dating
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[Question ID = 135][Question Description = 135_7_ANTH_OCT22_S2_Q35]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

36) Which of these was used as a multipurpose tool?

1. Side scraper
2. Backed blade
3. Handaxe

4, Graver
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[Question ID = 136][Question Description = 136_7_ANTH_OCT22_S2_Q36]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

37 Harappan script was written from:

1. Leftto rght
2. Right to left
3. Tap to bottom
4. Bottom to top
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[Question ID = 137][Question Description = 137_7_ANTH_OCT22_S2_Q37]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]



38) Herses in full ernaments were buried along with their

miasters in whichsite?
1. Nagarjunakonda
2. Brahmagiri
3. Hastinapur
4. Vidarbha
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[Question ID = 138][Question Description = 138_7_ANTH_OCT22_S2_Q38]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

39) Which of the following is considered "deluxe” ware?

1. Malwa ware
2. PGW
3. NEP
4. BRW
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[Question ID = 139][Question Description = 139_7_ANTH_OCT22_S2_Q39]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

40) Which of the following is a single cultural deposit?

1. Cheopanimando
2. Koldihwa

3. Chirand

4. Mahagara
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[Question ID = 140][Question Description = 140_7_ANTH_OCT22_S2_Q40]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

41) Which of the following ape-like characteristics did

Dryopithecus have?

A, Knuckle walking

B. U-shaped dental arch

C. Slightly projecting snout
D. Prognathous face

Choose the correct answer from the options given below:,
1.4, Band Conly
2.4 Band D only
3.4, Cand Donly
4.8, Cand D only
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[Question ID = 141][Question Description = 141_7_ANTH_OCT22_S2_Q41]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]



42) Prosimii include :

A. Lemur

B. Tarsier

C. New World monkey
D. Loris

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3. A Cand Donly
4. B, Cand D only
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[Question ID = 142][Question Description = 142_7_ANTH_OCT22_S2_Q42]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

43 Lominoids have 2 number of features indicating:

A. Large brain size

B. Extended gestation period
C. Egg laying animals

D. Social interaction

Choose the correct answer from the options given below:;
1. A, Band Conly
2.4 Band D only
3.4, Cand Donly
4.8, Cand D only
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[Question ID = 143][Question Description = 143_7_ANTH_OCT22_S2_Q43]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

44) Sub-families of family Cebidae are:

A, Aotinae
B. Cebinae
C. Atelinae
D. Colobinae

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3.4 Cand Denly
4.B, Cand D only
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8. TE

C. el

D. BiaiEll

id feu 71t fadedl 4 4§ el IR 91 -
1.HFAA BARC
2. FaAA BIARD
3.FadA CHRD
4, FaAEB, CHRD



[Question ID = 144][Question Description = 144_7_ANTH_OCT22_S2_Q44]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

45) Catarrhini includes:

A. Old World Monkeys
B. Apes

C. Howler Mankeys

D. Humans

Choose the correct answer from the options given below;
1.4, B and Conly
2. A Band D only
3.4, Cand Donly
4.B, Cand D only

Felfeal 5 M & -

A, TS TS Sa¥ (QUH gHAT @ §aY)
B. &M

C. BRHTR &5

D. 5H9

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2.FaAA BHARD
3.FadaA CHRD
4 FAAB, CHRD

[Question ID = 145][Question Description = 145_7_ANTH_OCT22_S2_Q45]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]



46) Which of the following are the features of Homo erecius?

A, Homo erectus appeared in Africa about 1.8t0 19 mya
B. The brain size ranges from about 550cc to aver 1200 cc.

C. In 1960s; Louis Mary Leakey discovered a
partial juvenileskull at Olduvai Gorge, Tanzania.

D. Seme Homo erectus used Acheulean tools and others
used Oldowan tools;

Choose the correct answer from the options given below,
1.4, Band Conly
2.4 Band D only
3.4, Cand Donly
4.8, Cand D only

fFrafalad 7 9 g1 siacy @i @ 9l falRpart 87

A, BT 3629 @THT 1.8 9 1.9 Wiftre o ud empier F ure
el

B, ATGTSH @7 STHR aTHTT 550 Sl € 1200 HiEl & S0
dB e

C. 1960 B G@ H , T3 74 didp| 4 Siiegars T, aei—ar 4
UF [FUR-9 & @ SYd 3l Gia B

D. $3 B 3382y URgE) 3ER & Wi &t 4§ IR 78
3 3fiesdl SR &1 Ui & o
i< fou e faded § S 98l S g

1. BIAA, BIARC

2. FGAA BIND

3. FgAA CIHRD

4. HEAE, C 3R D

[Question ID = 146][Question Description = 146_7_ANTH_OCT22_S2_Q46]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]



47) The upper molars of the primitive mammals -have three

large cusps, namely:
A. Metacone

B. Paracone

C. Protocone

D. Cuspule

Choose the correct answer from the options given below:,
1.4, Band Conly
2.A BandDonly
3.4 Cand Donly
4.8, Cand D only

HHURIG] @ U 997 6d H i 95 cad eld 4, 4
g
A HE@A

D. HEET

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1.HaAA BARC
2. FadA BHRD
3. FadA CHRD
4 FAAE, C IR D

[Question ID = 147][Question Description = 147_7_ANTH_OCT22_S2_Q47]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]



48) The features of a gorillaskull are ;

A, Mid-sagittal crest

B. Nuchal crest

C. Post-orbital constriction
D. Dental Comb

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3. A Cand Donly
4. B, Cand D only

TR PO & 5 98 E ;

A Fs-owEed o

B, Fq o

C. 9y el Tp

D. &d Sdd (Pl4)

d fau 71C fadedl 4 4 el IR 91 :
1.HFAA BARC
2.FaAA BIARD

3. HFAA CIHRD
4. HIAE, C IR D

[Question ID = 148][Question Description = 148_7_ANTH_OCT22_S2_Q48]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



49) Which of the following is/are not the features of

quantitative traits?

A, Influenced by environment
B. Continuous variation

C. Polygenic inheritance

D. Discontinuous variation

Choose the correct answer from the options given below:,
1.4, Band Conly
2.A BandDonly
3. Cand D only
4. D only

Fafafa # 9 & § URaES faSvs 01 & T80 T8 6

A, THTET0T § UHIfEE
B. T [araear

C. IgaH=d a9
D. fafes fafasm

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1.HaAA BARC
2. FadA BHRD
3. @A CHND
4. FEAD

[Question ID = 149][Question Description = 149_7_ANTH_OCT22_S2_Q49]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



50) The features of Mongoloid Race are:

A, Yellow skin colour
B. Black skin colour
C. Epicanthic fold

D. Straight hair

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3. A Cand Donly
4. B, Cand D only

TPTIEHE el & TE -
A, @ @] i quf

B, 741 91 Bierl auf

C. IS E pies

D. Tie

d fau 71C fadedl 4 4 el IR 91 :
1.HFAA BARC
2.FaAA BIARD
3.FadA CHRD
4, FAAE, CHRD

[Question ID = 150][Question Description = 150_7_ANTH_OCT22_S2_Q50]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]



1) Cultural assimilation may occur in which of the following

types?

A, Immigrant assimilation
B. Forced assimilation

C. Cultural appropriation

D. Syncretism

Choose the correct answer from the options given below:,
1.4 and B only
2.B and Conly
3. Cand D only
4. 4 and D anly

Fafatad H | fod yoRi 5 gesiae ATHE®I 6l 9adl
27

A, VaTE SRR
B, STl ST
C. g a-aeE
D. FHH

i fou e faded § @ 98] S 9 ;
1. 9g0 A A B

2. ®aa e AN C

3. HIACIARD

4 FAAASRD

[Question ID = 151][Question Description = 151_7_ANTH_OCT22_S2_Q51]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]



52 . .
) Synicretism refers to the amalgamation of twe of more

disparate cultural traditions and canhappen in which of
the following areas?

A, Technelogical syncretism
B. Religious syncretism

C. Cultural syncretism

D. Religious orthodoxy

Choose the correct answer from the options given below:,
1.4 and B only
2. B and Conly
3. Cand D only
4. & and D enly

e &1 G al 91 b a9 FRpiae W &
G e e PR d e e A Soa 8 7

A, UIEifiesia g9
B, ulfi® wHeH

C. ias g9e
D. H1fd S

i< o e oo § S 98 S 9
1. @aaA AN B
2. FAAB AN C
3. @adCcARD
4 BIAARD

[Question ID = 152][Question Description = 152_7_ANTH_OCT22_S2_Q52]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]



33) Who ameng the following analysad the issues conecerning

the ‘'matrilineal puzzle'?
A, David Schneider

B. Evans-Pritchard

C. Audrey Richards

D. Robin Fox

Choose the correct answer from the options given below:,
1.4 and B only
2.B and D only
3. & and Conly
4. B and C only

Fafoied 5 9 fesls Hgdeiin ugdl § S6ivd mgi &1
fa=egu fasan 2

A SHs #s2

8. 399 - TS
c. s sy
D. RIT& PIFd

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1. BaaA AN B
2, FAAB AN D
3. FATAARC
4 FAAB AN C

[Question ID = 153][Question Description = 153_7_ANTH_OCT22_S2_Q53]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]



>4) Which among the following are the patterns of diffusion

where cultural elemerits are borrowed and incerperated
into the recipient groups?

A, Intermediate contact
B. Direct contact

C. Accidental contact
D. Stimulus diffusion

Choose the correct answer from the options given below:,
1.4, Band Conly
2.4 Band D only
3.B, Cand D only
4.4 CandDonly

fFrafefad 3 @ & 9 fawr & U8 ufoa § of aiofie
@l ] 80 S ATal 9HEl H GHIaF BT ol 9l & ?

A, Headl 496

B. Ueg §udh

C. AP ED Yoo

D. FRH [9ER0

i< o e oo § S 98 S 9
1.BIAA B AR C
2. FadA BHRD
3. ®ad B, C3RD
4 ®IAA C3RD

[Question ID = 154][Question Description = 154_7_ANTH_OCT22_S2_Q54]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]



33) The Postmeodernist Anthropologists advocate for making

informants participate as equal partners in the production
of knowledge through :

A, Othering

B. Grand narratives:

C. Experimental ethnographies
D. Decentring Text

Choose the correct answer from the options given below:,
1.4 and B only
2. B and Conly
3. B and D orily
4. Cand D only

IR AYFmaare] A4 fagH Feiaiaa # 9 e @ aras
4 Ya@! | I 191 H GHH HFGR S o1 ahieid S
g7

A, TR

B. F§M gdid

C. Ui #Hd gaid
D. UT5 fadgu

i fou e faded § @ 98] S 9 ;
1. 3G90 A AU B
2. FAAB AN C
3. @aAE AR D
4 FAACARD

[Question ID = 155][Question Description = 155_7_ANTH_OCT22_S2_Q55]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]



>6) Which of the following are also known as Jajmani system in

different regions-of India?
A, Baluta

B. Aya

C. Milland

D. Nayab

Choose the correct answer from the options given below;
1.4, Band Conly
2.A BandDonly
3.B, Cand D only
4. B and C only

ffefad & ¥ fos YRd & fafsye &6 5 SeisHl v &
EOHEAT T 8 7

A, Sl

B, 2T
c fieig
D. R

fid fou 71¢ fadedl 4 4§ 6l 9w 91 -
1.BIAA BARC
2. FadA BIARD
3, Pad B, CHRD
4 FAAB AN C

[Question ID = 156][Question Description = 156_7_ANTH_OCT22_S2_Q56]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]



>7) Which of following cultural processes had beensuggested

by K. N. Sahay (1963) in-connection with Graon tribe?
A, Osdillation

B. Scrutinization

C. Combination

D. Hinduization

Choose the correct answer from the options given below:,
1.4, Band Conly
2.B, Cand D only
3.4 and B enly
4. Cand D enly

Ia Flld & GeY H & T, He™ (1963) H HElaiaa 4 4
fop1 wiala® i & 3eod [Hd1 6 ?

A B
B, Gdian
C. gara=

D. fegam

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1.HaAA BARC
2. FadAEB, C AR D
3. FadAHRB
4, FaACARD

[Question ID = 157][Question Description = 157_7_ANTH_OCT22_S2_Q57]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]



>8) Which of the following are the intangible cultural

heritages?

A. Monuments

B. Prehistoric artefacts
C. Performing arts

D. Languages

Choose the correct answer from the options given below:,
1.4, Band Conly
2. A Cand Donly
3.4 and B enly
4. Cand D enly

Fafared 3 9 eiF-oH U o SRpih® st e 7
A RS

B. URIGeIY® Scdiad]
C. UG3H Fan
D. HrETa

i o e faded 4 § 98] S 9 ;
1.BIAA BARC
2. @A A CHRD
3. @I A IR B
4 HIACIARD

[Question ID = 158][Question Description = 158_7_ANTH_OCT22_S2_Q58]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

>9) Which of the following NGOs have originated in India?

A, Missionaries of Charity

B. Social and Research Centre
C. Oxfam

D. Ramkrishna Mission

Choose the correct answer from the options given below;
1. A, Band D only
2.8, Cand D only
3. A and B only
4.Cand D enly



TR - e A Feg URa H g3 8 2
A, TR SfE 9

8. T s frod de
c. sieatra

D. IHEW HTH

I Ru e famadl § 98 S 9 -
1. @90 A B3R D
2. %aAB, CHRD
3. FadAAREB
4, FEACHID

[Question ID = 159][Question Description = 159_7_ANTH_OCT22_S2_Q59]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

60) Which of the following factors are responsible for high rate

of crime and delinguency among the slum dwellers?
A. Undesirable environment

B. Indiscipline and parental indifference thereto

C. Presence of ethical and moral values

D. Affection among the family members

Choose the correct answer from the options given below:;
1.A and B only
2. Cand D enly
3.4, Cand Donly
4.8, Cand D only



AfH Sfeaal & Haiadl & arg SO HR1 SO B 39 o
FEREEd T o § ORE Sad 8 ?

A, HTIG-TT g
B. HRITE61-a 3R 36® Hia ANI-a] &1 Jua
C. Hifa G@ SR e gedl @ Jufedfa
D. UGN & 95| & did @8
< fou e faded § S 98l o 9
1. &G A 3B
2. FGACIRD

3. 5a0 A CHR D
4. HIAE, C IR D

[Question ID = 160][Question Description = 160_7_ANTH_OCT22_S2_Q60]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

61 Which of the fallowing are types of chemical weathering

seen on stone tools?
A, Rolling

B. Patination

C. Encrustation

D. Exfoliation

Choose the correct answer from the options given below:,
1. A, Band D only
2.4 and B only
3.Band Conly
4. Cand D only



Fafefed & 4 oH-31 4 U J9R &R J9ERE
SUEAY & UPR & ?
A, e

g, OfeiaTo
C. JUS! ST (GIF9cTH)

D. Ut

d fau 71C fadedl 4 4 el IR 91 :
1.$gdA B AR D
2. FaAAAREB
3. FAAB AN C
4, FaAACHND

[Question ID = 161][Question Description = 161_7_ANTH_OCT22_S2_Q61]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

62) Which of the following were the pluvial depasits in East

Africa during the Pleistocene?
A, Makalian

B. Nakuran

C. Gamblian

D. Kamasian

Choose the correct answer from the options given below:;
1.A, Band D only
2. A and B enly
3.B and Conly
4. C and D only



Tdf 3biE] § Wige i @ 8 Fgendd 3 9 @ g
SEHedig HEE € 7

A, BT

B, AHIH
C. TTigicgA

D. BHENG3H

I feu e famadl 4 G e ST g -
1. 5T A, B3R D
2. FaAASRE
3. FaABARC
4 FEACHRD

[Question ID = 162][Question Description = 162_7_ANTH_OCT22_S2_Q62]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

63) Which of the following criteria define experimental

archaeology?
A, Results of the experiment must be replicable

B. Materials used in the experiment must be available to
the prehistoric society

C. Medem technology can be used in the experiment upto
40%

D. Result er preduct ef the experiment is the most
impoertant data

Choose the correct answer from the options given below:;
1. A, Band D only
2. A and B enly
3. B and Conly
4. C and D only



UM Wiaw [auF @1 =5 1 4 BH-9H 9 S
gieuTia el & 2

A, T & R GiexH 9 &4 918
B. TERT ¥ e 9l v iRe 9md & Suas 59
Bl

C. WA H 1Y HIEiie] o1 40% 0@ Wai by & Godl
g

D. 4R %1 ORUTH SYal Idi Yaid® Ag@yul siel g

I Ru e fadadl G 98 S 9 -
1. $gdA, B AR D
2. FaAAARB
3. FAABARC
4, FAACHND

[Question ID = 163][Question Description = 163_7_ANTH_OCT22_S2_Q63]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

64) Evidence of cattle pen was found in which sites?

A Kuchai
B. Mahagara
C. Utnur
D. Koldihwa

Choose the correct answer from the options given below:,
1. A, Band D only
2. A and B only
3. B and Conly
4. Cand D only



TR & e Fuffaa ¥ O T el o e g
A BEE

B.Hgl X

C. R
D. ®ifeasdl

i< fou e faded § S 98l S g
1. 5T A, B R D
2. FaAASRE
3. FaABARC
4 FEACHRD

[Question ID = 164][Question Description = 164_7_ANTH_OCT22_S2_Q64]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

63) Which of the following sites are lotated on the dry

Ghaggar-Hakra channel?
A, Rakhigarhi

B, Ganweriwal

C. Dholavira

D. Lothal

Choose the correct answer from the options given below:,
1.4, B and D only
2.4 and B only
3.Band Conly
4. Cand D only



afoed o 9 oF 1 =i Odl 9201 Ja) IR HaRd &

I fau e famadl 4 G Wel S 9 -
1. @90 A, B 3R D
2. Fad A RB
3. FaABARC
4 FEACHRD

[Question ID = 165][Question Description = 165_7_ANTH_OCT22_S2_Q65]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

86)  Match List I with List 1
List | List I
A, Lemurs I. India.
B. Rhesus monkey II. China
C. Grangutan Il Madagascar,
D. Golden snub-nosed monkey|lV. Indonesia

Cheose the correct answer from the options given below:
TA-1,B=I,C=l,D-1V
2A-1,B-1,C-IV,D-1
3.A-IW, B-1,C-1,D-1
4. 4-1,B-1,C-IV,D-1l

i - DI ol -1l | gHfad Bifo ;

T - -l
 fomd I HRT

8. fma gat =i
HREH 111, HETTT
D. 71es &4 - AEs H@1 Iv. SR
d feu e fadpedl H 4§ el St AL ;

T.A-1,B-1I,C=1ll, D-1V
2A-1,B-11,C-IV, D-|
s A-IV,B-1,C-1I, D-1I
4 A-11,B-1,C-1V, D-1

[Question ID = 166][Question Description = 166_7_ANTH_OCT22_S2_Q66]



1. 1 [Option ID = 661]

2. 2 [Option ID = 662]

3. 3 [Option ID = 663]

4. 4 [Option ID = 664]

67) " Match List | with List II
List | List 11
A, Bush babies|l. Sumatra and Borneo
B. Indris II. Sub-Saharan Africa
C.Slamangs  |lil. Madagascar
D. Orangutan |IV. South East Asia

Cheose the correct answer from the options given below:
TA-1,B-I,C=l,D-1V
2A-01,B-1LC-IV,D-|
3.A-IV,B-],C-1l,D-1ll
4.A-1,B-IV, C-1,D-1l

Tl - D1 -1l | GHod DI

gl - Tl -l

A, T ElES 1. AT U SR
B, 3GIY I, 9 - BRI Hitbdm]
c. gy IIl. TSFTR®T

D. HRAEH Iv. Gf&oT ud Tl
< feu e fapadl 8 4 U8 S AT

T.A-1,B=1l,C=Ill, D-1V
2A-11,B-10,C-IV, D-|
S5A-IV,B-1,C-1l, D-1
4 A-I,B-IV, C-I D-1

[Question ID = 167][Question Description = 167_7_ANTH_OCT22_S2_Q67]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]



68) Match List | with List 11

List | List i

. .| A tentative explanation of the relationships
A. Empirical X
between certain phenomena

II. An assertion of opinion or belief formally

B.
. {handed down by an authority as true and
Hypathesis ||~ . \ Y
indispensable
C. Theory IIl. An approach based on observations of the

world rather than intuition or faith

IV. & coherent statement that provides an
D. Doctrine jexplanatory framework for understanding an

explanation

Choose the correct answer from the options given below:
T.A-I,B-N,C-1,D-IV
2A-1,B-1,C=l,D-1V
S.A-IL,B-1,C-IV,D-1I
4 A-1,B-1I,C-IM,D-1l

Tl - @ g1 -1 gl DI ;

T - o -l
A, EURET || T8 a9 © Ty gEdl ©f Tm Haiky s

; 11, Tor el e ey O U i U 91y AmEie
s TT ST YR

. j11, HTFE uar YTy &1 AUaT @Y 3gaim ot ATHa
C. gt -
|- V. T U a0 |l e e @l 9HSH od SIeEd

TA-N,B-II,C~1, D-1V
2A-1,B=1,C=ll, D-1V
s A-ML,B-1,C-1V, D-1
4 A-1,B-N,C-1V, D-1l

[Question ID = 168][Question Description = 168_7_ANTH_OCT22_S2_Q68]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]



69) Match List | with List 11

List | List Il
A, Feuding . Dani
B. Raiding II. Neur
C. Low scale war [ it
D. Leopard: Skin Chief V. Tiv

Cheose the correct answer from the options given below:
TA-I,B-1,C=IV,D-1l
2A-,B-IV, C-1,D-1l
3.A-I,B-IV,C-1,D-1ll
4A-IV,B-1I,C-11,D-1

T -1 B e -1 ghfad Bt

Tl -l -1l
A, TS LEH

B, ST i1, 3R
c. Al waar . 29e
D. OUS &6 dith v. fea
T fou 7e fadedi # 9wl 3o 9T :

TA-I,B-1,C=IV, D~
2ZA-M,B-IV, C-I D-I
sA-0I,B-IV,C-1, D-1I
4A-IW,B-JIl ,C-1l, D-1

[Question ID = 169][Question Description = 169_7_ANTH_OCT22_S2_Q69]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

70 \atch List | with List 11
List | List Il
A, Postmadernism |. George Marcus
B. Pastcolonialism Il. Michel Foucault
C. Reflexive Anthropology \ll, Edward Said
D. Anthropology and Globalization|IV. Arjun Appadurai

Cheose the correct answer from the options given below:
T.A-IV,B-1,C-1I,D-1
2A-II,B-IV,C-11,D-1|
3.A-11,B-II,C-1,D-1IV
4 A-1,B-1,C=N,D-1IV



e -1 1 -1l e B ;

gl - gl -1l

A OredE-e |. 91T qih g

8, Yoo II, FT2 2 Biblee
C. Ruifeda wiEms! lil. Usas 498

D. YTl 008 Wiaaieedd [IV. e HImgts
d Teu TC fadadl 8 4 U5l St gHe :

T.A-W,B-1,C-1l, D-1I
2ZA-N,B-IV, C-Ill, D-1
sA-1I,B-ILC-1, D-1V
4 A-1,B-1I,C=1ll, D-1V

[Question ID = 170][Question Description = 170_7_ANTH_OCT22_S2_Q70]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

) Match List | with List 11

List | Committee List Il Led by

A. The Criminal Tribes Act Enguiry
Cammittee

l. Elayaperumal

B, Commitiee on Special

Il. M:P.Bh
Multipurpose Tribal Blocks ' Bigdva

C. Special Working Group on

Il. Verrier Elwin
Cooperation for Backward Classes

D. Committee on Untouchability,

. ) V. Ananthasayanam
Economic and Educational

Ayyangar

Development of Scheduled Castes

Choose the correct answer from the options given below:
T.A-I,B-IV,C-1l,D-1l
2A-IV,B-1I,C-11,D-1
3.A-NI,B-ILC-1,D-1V
4 A-l,B-II,C-IV,D-|



e -1 1 -1l e B ;

il -l -l
A, T IEFT TS Ude SHI0R HHel 1. SIS
B, T AfceuROw 2Igat s @I Bacl I @, b, el

cigsT s GRy seRiag |, 3R uaiaT
D. ¥4fud wifadl @ asiaad, Afte W Ae  |Iv. sHamEEa
fa@e = aEfa R

< feu e fadpadl 8 4 U8 S g

1.A-1,B=IV,C-1Il, D~

2.A-IV,B-1ll,C-1I, D-1

3.A-I,B-1I,C-1, D-1V

4A-I,B-Il,C-IV, D-]

[Question ID = 171][Question Description = 171_7_ANTH_OCT22_S2_Q71]
1.1

[Option ID = 681]
2.2

[Option ID = 682]
3.3

[Option ID = 683]
4. 4

[Option ID = 684]

72)  \atch List I with List 1l

List | List Il

(Mame of the scholars) (Study area)

A. Naney Scheper-Hughes . Gay Anthropology

o Slbr Enele Men 1. Anti-racist

. Sally Engle Me
yng B Anthropology
. I, Critical Medical

. Gilbert Herdt
Anthropology
IV. Globalizati d

D. Leith Mullings SREHCAION. A
Human Rights

Choose the correct answer from the options given below:
T.A-W.B-1l,C-1,D-1l
2A-11,B-Iv, C-1,D-1
3A-L,B-1,C-v, B-1
4. A-11,B-IV, C-11,D-1I



e -1 1 -1l e B ;

gl - ol -1l

A, A0 MOR-Y {1, 71 TR

g A tea Bl || 01 e
cfiegdgide |nfolkRed AfSsa skl

D. U &g V. TeTEeisH T gghE Ugcd
d Teu TC fadpadl # 4 U5l St gHe :
T.A-IV,B-1IlI ,C-| D-I
2.A-Il,B-IV,C-1, D~
3.A-N,B-1I,C~IV, D-)

4 A-N,B-IV,C-1, D-|

[Question ID = 172][Question Description = 172_7_ANTH_OCT22_S2_Q72]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

73) Match List | with List 11
List | List Il
(Dating method) (Objects dated)
A. Dendrochronology . Pottery
B. Thermeluminiscence Il. Wooden Beam
o [1l. Prehistoric
. Fission Track b
ones
0. Racemization IV. Volcanic Rocks

Choose the correct answer from the options given below:
TA-U,B-Il,C-IV,B-|
2A-IV,B-, C-ll,B-1
3A-UI,B-1,€E-1V, -1
4AA-,B-1,C-1V,D-1l

Tl - @] gl -1l e DI ;

CER ol -l

A, Sl i, et

SR e I geT 4
c.ibuah il MeERE 5y
D. IR IV, AreEhia® e
=7 feu 7T faeedl H € Ugl 9t 94 ;

T.A-I,B-0,C-IV, D-]
2ZA-IW,B-],C-1l, D-1
3.A-0,B-1,C=IV, D-1
4 A-1,B-1,C-1IV, D-1l



[Question ID = 173][Question Description = 173_7_ANTH_OCT22_S2_Q73]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

74 Match List I with List 11
List | List Il
(Sites) 5o g
(Similar Cultural Characteristics)
A, Agartala . Late Anyathian of Myanmar
B. Teri Il. Banderawela Industry of Sri Lanka
[1l. Neclithic of Sichuan and Yunnan

. Dacjali Hading o
rovince

IV. Cylirider Seals of Mesopotamian

D. Kalibangan ]
influsnce

Choose the correct answer from the aptions given below:
T.A-LLB-Il,E-N,D-1V
2ZA-Il,B-1,E-1V,;B-1I
3LA-I,B-I1,C-W,D-|
AA-IV, B-ILLC-1,D-1l

Tl - @ gl -1l H e DI ;

il -| gl -0l

A CSFERAT |l T HAINEA S BHER

B, 4 II. SSUGT 2% AP e

cfegmer | e e e ud gad
; Iv. Fifdist e off f|ien—am

D. BT e

d fou e fapedl & 4 U5l St A0

1T.A-1,B-1I,C=1ll, D-1V
2ZA-0,B-1,C=IV, D-1I
3.A-II,B-,C-V, D-1|
4A-IV,B-1I,C-I D-1

[Question ID = 174][Question Description = 174_7_ANTH_OCT22_S2_Q74]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]



73) Match List | with List 11

List | List Il

(Site) (Findings)

A. Scapula I. Linea aspera

B. Pelvis Il. Foramen magnum
C. Cranium IIl: Obdurator foramen
D. Femur V. Glenoid cavity

Choose the correct answer from the aptions given below:
TA-LB-Il,C-v,D-1
2ZA-IV . B-MIl,C-11,D-1
A-I,B-1,C-V, -1
4. A-M,B-V,C-1l,B-|

Tl - @ gl -1l H e DI ;

ol -l 1 -1l

A, BT BNECIR

B, UGfag II. RIS 74

C. higH 111, HEGET BRHA
D. BT V. TAAITS diael
id feu ¢ fasdpedl | 9§ 5l St gAY ;

T.A-I,B-0,C=IV, D-1I
ZA-IW,B-1I,C-1l, D-1
S.A-I0,B-1,C=IV, D-1
4A-0,B-IV, C-Il, D-I

[Question ID = 175][Question Description = 175_7_ANTH_OCT22_S2_Q75]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

76) Identify the comect sequence of teeth on the dental arcade

from the central to the lateral side:
A, Maolar
B. Canine
C. Incisar

D, Premglar

Choose the correct answer from the options given below
1.6, B DA
2.08AC
3.8,CDA
4.ABDC



T 919§ Gid &1 70 § a4l 14 & o | (a0 o1 9el
FHIE D -
A TEUE

B. 3G9

C. FdP
D. 3TEAUE

i fau g fadedl H 4§81 I 9 -
1.C,B,D, A
2.D,B,AC
3.B,CD,A
4.A8,D,C

[Question ID = 176][Question Description = 176_7_ANTH_OCT22_S2_Q76]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

7 Identify the comrect sequence of development of racial

classifications of Indian people by different anthropologists

A BS.Guha

B. S.S. Sarkar

C. A.C. Haddon

D, EF, von Eickstedt

Choose the correct answer from the options given below
1.6, B DA
2.0,84AC
3.C, DA B
4.ABDC



fafirs Ig aee! § YRAG-99 © Wellid aii@s0 &
o™ &0 &1 Ue! 35 H afta sifen ;

A ST IE

B. TH TH WaR
C U BT

D. &1 U diq sace

i feE 71e fapedl § § W6l W g ;
1.C,B,D,A
2.D,B,AC
3.CDAE
4.ABD,C

[Question ID = 177][Question Description = 177_7_ANTH_OCT22_S2_Q77]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

78) Identify the comrect sequence of the discovery of the

following blood group systems:
A MN

B. Rh

C. ABO

D. Duffy

Chouose the correct answer from the options given below
1.C,B,D, A
2.0,BAC
3.CABD
4 A 8DC



FHifihd Yaa 99g Uuel ® @i @ 9g Aq@d i ogard
Hifog -

A UHTA
B AR TH
C. Tdlal
D. 356

i feE 71e fapedl § § W6l W g ;
1.C,B,D,A
2.D,B,AC
3.CABD
4.AB,D,C

[Question ID = 178][Question Description = 178_7_ANTH_OCT22_S2_Q78]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

79) Identify the chronological order of the following fossils :

A, Homo erectus

B. Australopithecus
C. Neanderthal Man
D. Gigantopithecus

Chouose the correct answer from the options given below
1.C,B,D, A
2.0,BAC
3.B,ADC
4 CAEBD



Fafafad sharsl & BePATgR Haftd DIl ;
A. B 3vaed
B. icdiy®y
c. Fgsda s
D. Wigllefuemy
I fau e famadl G e ST g -
1.C,B,D, A
2.D,B,AC

5.8,ADC
4 CABD

[Question ID = 179][Question Description = 179_7_ANTH_OCT22_S2_Q79]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

80) Arrarige the following books in ascending order of their

years of publications:

A, African Political Systerms by Mayer Fortes and E. E.
Evans-Pritchard

B. Structure and Furiction in Primitive Society by Radcliffe
Brown

C. Political Leadership among Swat Pathans by Fredrik
Barth

D. Primitive Polynesian Economy by Raymond Firth

Choose the correct answer from the options given below
1.B,C,D A
2.ADBC
3.0,8.CA
40 AEBC



FRfoRad T®! & 3% TPRH a4 © SR &0 5
TARYd BITE ;

A TR BIcT 3R 3. 5 3019 M98 NI [aiad Spied
gifediea Red

B. Eip IR R fed SR S b A
ffffes Womel

c. reiv® a1 grI foRaa ufafeaa disxia HT @n
D. s By g fufag Mk dreiaie- seHm

i feu g fadedl § 4§81 I 9 ;
1.B.C,D,A
2.AD,B,C
3.D,BCA
4.D,A,B,C

[Question ID = 180][Question Description = 180_7_ANTH_OCT22_S2_Q80]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

1 . ; =N g
81) Arrange the concepts in chronological order of their

appearance in the history of Anthropology:
A, Mary Douglas’ Symbolic Anthropology
B. Julian Steward's Cultural Ecology

C. Lestie White's Technolagical Determinism
D, Marvin Harris' Cultural Materialism

Choose the correct answer from the options given below
1.C,B,AD
20,ACE
3.8, CDA
48 DAC



A4 a9 & serg J HRigd SRl $f 39a
JEITH & BIABAHTR Taed il :
A, T B9 @1 U @iE® AHaiaa

B. SO0 WIS @I UiRPlad Uiy
C. T g ] WiEifeid fHega
D. Hiidq eRE @ s iae Yineak

i feE 71¢ fapedl § § W61 ST g ;
1.C,B,AD
2.D,A/CE
3.BCDA
4B D.AC

[Question ID = 181][Question Description = 181_7_ANTH_OCT22_S2_Q81]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

82) Make a sequence according to the degree of inequality to

openness:

A, Rank society

B. Egalitarian society
C. Castesociety

D, Class Society

Chouose the correct answer from the options given below
1.C,B,AD
2.D,ACEB
3.BCDA
4 CD0DAE



QAU H S 3] 4T $ SR R Fiied B U6l 54
o g Hifee -

A, §HTE

B. THAl HO® YA
C. S-SR §AS
D. - 1YTR §HTS

i feE 71¢ fapedl § § W61 ST g ;
1.C,B,AD
2.D,A/CE
3.BCD,A
4.C,D A B

[Question ID = 182][Question Description = 182_7_ANTH_OCT22_S2_Q82]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

83) Make a sequence of the following "Acts’ in chronological

order:

A, Child Laboaur Prohibition and Regulation Act
B. The Plantation Labour Act

C. Bonded Labour System (Abalition) Act

D. The Factories Act

Choose the correct answer from the options given below
1.CBAD
2.D,A CE
3.0,B.CA
4.C0DAB



afaRaa sfufan o e aToR Heik i ;
A, =1a 49 uiauy R BfmET afgigy

B. AT %H 3MfYf-aH

C. 31T %9 SOgwy (Taiae ) SuHgs

D. Sl R

7 8T TTE fadedl § ¥ U8 SR g ;
1.C.B,AD
2.D,ACE
3DBCA
4.C,D,A B

[Question ID = 183][Question Description = 183_7_ANTH_OCT22_S2_Q83]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

84) Arrarige the following "Venuses® from the cldest to the

youngest :

A, Menruz

B. Willendorf
C. Hohle Fels
D. Kostenki

Chouose the correct answer from the options given below
1.ABCD
2.B,ADC
3.C,B.DA
4D CAEB



fgarad Tl 9 S 75 a0y ] Ui 4 SR &
FHHIAN TR Difeg

A, FIES
REREEE
C. Bid thed
D. B

i feE 71e fapedl § § W6l ST 9 ;
1.ABCD
2.B,ADC
3.CEDA
4.D,C, A B

[Question ID = 184][Question Description = 184_7_ANTH_OCT22_S2_Q84]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

83) Arrarige the location of the following sites from West to

East:

A, Mohenjodaro
B. Ganweriwala
C. Rakhigarhi

D. Alamagirpur

Choose the correct answer from the options given below
1.ABDC
2.C,ABD
3.B,.CAD
4.AB8CD



FafcEd ®uel @ UiEH § Ga $1 3R TRl & S8R
AT BT ;

A, HigAsGs!
8. A aren
C. Gl

D. HIAFHIRgY

i feE 71¢ fapedl  § W6l ST g ;
1.A B D,C
2.C,ABD
3B CAD
4.ABCD

[Question ID = 185][Question Description = 185_7_ANTH_OCT22_S2_Q85]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

86 ; ,
) Given below are two statements, one is labelled as

Assertion A and the other is labelled as Reason R

Assertion A : Both red and green colour blindness are X-
linked disorders.

Reason R : [t is for this reason they are much more
common in men than in women.

I light of the abeve statements, thoose the correct
answer from the cptiens given below
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the correct
explanation of A
3. Ais rue but R is false
4. Ais false but R is true



TRl TE RuE . 5B HEE (A) IR TR BT
TN (R) PEl T &

STUEUA (A) : TG AR BN GiHl GOl X-[0as [GPR & |

@R (R) : Jel HRY| ¢ 1% Aoaial &1 qoHl H 98 gosl o
@ g e 8|

Sudad Byl & e 4 FHifed Reed ¥ w6 oW 9
1. (A) 3R (R) T &1 & AR (R), (A) P Hel AT ¢
2, %nq 3R (R) G T8l & TR (R), (A) B To1 SR Tal
|
3. (A) Wel § UR (R) W1 e ©
4. (A) Wl 61 € R (R) W1 &

[Question ID = 186][Question Description = 186_7_ANTH_OCT22_S2_Q86]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

87 : ’
) Given below are two statements, one is labelled as

Assertion A and the other is labelled as Reason R

Assertion A : Forensic anthropologists study human
skeleton for the purpose of solving ecrimes and personal
identification

Reason R : Forensic anthropolagists collaborate
extensively with law enforcement officers

In light of the abeve statements, choose the correct
answer from the optionsgiven below
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the correct
explanation of A
3. Ais true but R is false
4. Ais false but Ris true



I Gl By U § T & DY (A) R gE B
TN (R) PEl T &

STUFUF (A) : O A G9HT SRS U | 56
e 2R gafdas ugaH & wae-Y 915 Har &l
FEEE A8

TN (R) ; A 994 [agH] 1a18 Uaa- ffemned & 91y
5 AT Gegr T ad &
IUUE DYl P AP o Fgiiord [admed § 4 Tol 39 91 ;

1. (A) 3R (R) T HE1 & 3R (R), (A) P 9E1 0 21

2 %&J R (R) TFT HEl € U3 (R), (A) BT el e el

|
3. (A) 98l & UG (R) Hel 98l o
4. (A) BEI 961 8 R4 (R) F61 8

[Question ID = 187][Question Description = 187_7_ANTH_OCT22_S2_Q87]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

88 : ;
) Given below are two statements, one is labelled as

Assertion A and the other is labelled as Reason R

Assertion A : All humans are classified, at birth within a
system of kin relations

Reason R : Kinship systems are flexible regarding the
formal incorparation of non-kin

In light of the abeve statements, choose the correct
answer from the optionsgiven below
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the cormrect
explanation of A
3.Ais true but R is false
4. A is false but Ris true



I Gl By U § T & DY (A) R gE B
TN (R) PEl T &

ST (A) ;G gHa 1 & 99 @ Gl S A @
HRU (R) ; TR RdaR oo ©f Sa=ie oo 4 SAled 190
SR P I R P e RaT

Suded Byl & e 4 FHifed feed d 8 w8 W 9
1. (4) 3R (R) THT T8 & 3R (R), (A) BT U6l BT
2. %oq R (R) GF TE! & I3 (R), (A) D] ol IR_edT el
:
3. (A) TE1 € UG (R) TR 61 B
4, (A) §ET 981 & R (R) 9l 8

[Question ID = 188][Question Description = 188_7_ANTH_OCT22_S2_Q88]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

89 : ;
) Given below are two statements, one is labelled as

Assertion A and the other is labelled as Reason R

Assertion A : A sharpened emphasis on tribalist ideology
need not necessarily be viewed as an unhealthy or
disruptive farce,

Reason R : [t may on the other hand be looked upen as a
move towards ethnic equality in a multi-ethnic polity-a
precondition to the integration of the tribals in to wider

body politics.

I light of the abeve statements, thoose the correct
answer from the cptiens given below
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the correct
explanation of A
3. Ais rue but Ris false
4. Ais false but R is true



Ta el vy Bu E  ue @ iy (4) AR g Bl
TR (R) PEl T &

B (A) : T Al [GIRYNT 9 9ga 9@ W e
S @ ATEE R R Haw AR FyeRl a9 & =9 F 98
o W T1RE

TR (R) ; TOX AR 54 Sg-Joma1g A1 3 GaEd 31
G te wog & ©U H oul o E@dl & o ool o1
A e I H U iHu & ol 9d 2 ©
Iulad Yl & Heis 4 Fyifed e § § 9l T 9

1. (A) 3R (R) T E1 & 3R (R), (A) P98 0 B

2 %m} 3R (R) THT T & TR (R), (A) T el ReT el

:
3. (A) Wel & U3 (R) Wl 1ol 6
4. (A) WEl 7161 8 U (R) Wl o

[Question ID = 189][Question Description = 189_7_ANTH_OCT22_S2_Q89]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

90 . ’
) Given below are two statements, one is labelled as

Assertion A and the other is labelled as Reason R

Assertion A : Palaeolithic cave art is mostly seen in profile
depicting three=dimensional animals on a two-
dimensional canvas

Reason R : Cave paintings are done ina realistic or
naturalistic fashion rather than being stylistic

I light of the abeve statements, thoose the correct
answer from the cptiens given below
1. Both A and R are true and R is the correct explanation
of A
2. Both A and R are true but R is NOT the correct
explanation of A
3. Ais rue but Ris false
4. Ais false but R is true



I Gl By U § T & DY (A) R gE B
TN (R) PEl T &

LB (A) : TRIGTET0] T 61 HEf s et
fefgdin =u v ot sftafda o3 o e sget o
Sl S
RO (R) ; TP FoEen IAq0l 5 @) ao JuUIdmReS a1
Toffe Tu g @ = 2
S Y| & AP 4 FElied [aeedl § § el 9T 9
1. (A) 3R (R) T E1 & 3R (R), (A) P 9E1 T B
2. (A) 3R (R) T U1 € TR, (R). (A) BT Wl IR el
gl
3. (A) Wl € IR (R) TeT el 81
4. (A) Wl 761 & W (R) §E1 B

[Question ID = 190][Question Description = 190_7_ANTH_OCT22_S2_Q90]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

Topic:- 007_PARTB_S2



Read the given paragraph and answer the five questions
that follow

It seems unreasonable to expect that the world, through the
process of globalization, is moving relentlessly toward a
single, benevolent, culturally homogensous nation-state.
News media every day report cultural differences
throughout the world, with each group operating from its
own unigue cultural heritage ang narrowly shared values
and interests, |f the many cultures of the world are not
becoming a single homogeneous megaculture, a more
workable approach would be some type of multiculturalism
- that is, an official policy that recognizes the worth and
integrity of different cultures at home and abroad. Such an
approach requires the basic anthropological understanding
that culturally different people are not inherently perverse
or immoral. Rather it is possible to live together in peaceful
coeyistence, provided we understand the logic of culturally
different people and are willing to negotiate with them in
good faith and without exploitation.

The alternative to multiculturalism ks a world that is
fragmented inte ethnic enclaves: self-absorbed, provincial,
fearful, uncooperative, militant, suspicious, and mean
spirited. Multiculturalism remains the best hope for
enabling all people to get the sscurity, prosperity, and
freedon they crave and deserve. And yet-multiculturalism
should not be seen as a totally selfless and altruistic
philosophy. Rather it should be considered a win-win
opportunity, The only way we can be safe and prosperous is
if we enable our neighbours to be safe and prosperous.

Globalisation led to the assumption that the world would
become:

1. Military state

2. Interconnected state

3. Homogenous nation-state

4. Exploitative state



Prafaie T B ST 13 o 5 O iy
e W H SR ART

g AT ST S Ul siell 8 fob a4iepul &1 Wichdl &
e § fay oawd €7 4 U Uoa, Ba|, aigfoe w0 4
HEUT Y 6T B G H SUH 8l 361 5 | GAER Hisdr
nfvfe % R & giepios el ©f gs ol Wl 8, g
@ T AT 18] Tmod fRgd AR 90 =99
TS e T are) el & YR IR @1 &Y Gat fageo
g1 21 O 3% &1 e el tew 9REUg TerEesia
T8 S 30! & al Ca HfUd AeaRiy JUFTH dgspiaas @l
OR A% S iodl @ 1101 SR SEaal $l J1 5l | 3H WPR &
JURTH B (T8 SR 9HE $1 aehsdl o, [oaH
henlas &g g fi o safdiea =9 1 Gaa a1 ke T8
&I | afce, Tifom Te- e A oo R W dva §
T 59 Gidiae w0 4 {7 il @ ah e [@lad) &1
Al R P WIS AN o 29 F OaE & 399 6
SO a1 91 faded U U 34 § S J=dm wrat &
TRHGY], M1 AR Ui HiEAT | Jied 8 | Sguidiadn
I A B &, TSl R Woadl o (08 3P Sl B,
foreer wi 4 Si@iell 164 & 9N 39® 41 g1 39@ a1998
SEUIgaE B Ue gUe § BErwe ok wrdad] ggF
& ¥ 1 951 <@ & 916y | 39% ey, 9 Al edfodl §
3 S @ SEER A o] et | §F Ha ayl gia 3R
TG Bl 9 &, 919 oH gAN TSl 3] QA AR T98
- & g @1

et ¥ U Q4-URON & 7T fob 9% & e ;
1. 9@ T
2. 3TR-Hell¥d Tod
3. GRS I
4, TYUBR] o8

[Question ID = 191][Question Description = 191_7_ANTH_OCT22_S2_Q91]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]



2)

A

Read the given paragraph and answer the five questions
that follow

It seems unreasonable to expect that the world, through the
process of globalization, is moving relentlessly toward a
single, benevolent, culturally homogensous nation-state.
News media every day report cultural differences
throughout the world, with each group operating from its
own unigue cultural heritage ang narrowly shared values
and interests, |f the many cultures of the world are not
becoming a single homogeneous megaculture, a more
workable approach would be some type of multiculturalism
- that is, an official policy that recognizes the worth and
integrity of different cultures at home and abroad. Such an
approach requires the basic anthropological understanding
that culturally different people are not inherently perverse
or immoral. Rather it is possible to live together in peaceful
coeyistence, provided we understand the logic of culturally
different people and are willing to negotiate with them in
good faith and without exploitation.

The alternative to multiculturalism ks a world that is
fragmented inte ethnic enclaves: self-absorbed, provincial,
fearful, uncooperative, militant, suspicious, and mean
spirited. Multiculturalism remains the best hope for
enabling all people to get the sscurity, prosperity, and
freedon they crave and deserve. And yet-multiculturalism
should not be seen as a totally selfless and altruistic
philosophy. Rather it should be considered a win-win
opportunity, The only way we can be safe and prosperous is
if we enable our neighbours to be safe and prosperous.

homoegenous megaculture is prevented by:
1. News media

2. Benevolent society

3. Altruistic philosophy

4. Mean spirted cultural prejudices
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[Question ID = 192][Question Description = 192_7_ANTH_OCT22_S2_Q92]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



3)

Read the given paragraph and answer the five questions
that follow

It seems unreasonable to expect that the world, through the
process of globalization, is moving relentlessly toward a
single, benevolent, culturally homogensous nation-state.
News media every day report cultural differences
throughout the world, with each group operating from its
own unigue cultural heritage ang narrowly shared values
and interests, |f the many cultures of the world are not
becoming a single homogeneous megaculture, a more
workable approach would be some type of multiculturalism
- that is, an official policy that recognizes the worth and
integrity of different cultures at home and abroad. Such an
approach requires the basic anthropological understanding
that culturally different people are not inherently perverse
or immoral. Rather it is possible to live together in peaceful
coeyistence, provided we understand the logic of culturally
different people and are willing to negotiate with them in
good faith and without exploitation.

The alternative to multiculturalism ks a world that is
fragmented inte ethnic enclaves: self-absorbed, provincial,
fearful, uncooperative, militant, suspicious, and mean
spirited. Multiculturalism remains the best hope for
enabling all people to get the sscurity, prosperity, and
freedon they crave and deserve. And yet-multiculturalism
should not be seen as a totally selfless and altruistic
philosophy. Rather it should be considered a win-win
opportunity, The only way we can be safe and prosperous is
if we enable our neighbours to be safe and prosperous.

For a harmonious world, multiculturalism is sought as a/ an

1. Peace pact

2. Negotiation

3, Gfficial pelicy

4. Military cooperation
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1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]



4)

Read the given paragraph and answer the five questions
that follow

It seems unreasonable to expect that the world, through the
process of globalization, is moving relentlessly toward a
single, benevolent, culturally homogensous nation-state.
News media every day report cultural differences
throughout the world, with each group operating from its
own unigue cultural heritage ang narrowly shared values
and interests, |f the many cultures of the world are not
becoming a single homogeneous megaculture, a more
workable approach would be some type of multiculturalism
- that is, an official policy that recognizes the worth and
integrity of different cultures at home and abroad. Such an
approach requires the basic anthropological understanding
that culturally different people are not inherently perverse
or immoral. Rather it is possible to live together in peaceful
coeyistence, provided we understand the logic of culturally
different people and are willing to negotiate with them in
good faith and without exploitation.

The alternative to multiculturalism ks a world that is
fragmented inte ethnic enclaves: self-absorbed, provincial,
fearful, uncooperative, militant, suspicious, and mean
spirited. Multiculturalism remains the best hope for
enabling all people to get the sscurity, prosperity, and
freedon they crave and deserve. And yet-multiculturalism
should not be seen as a totally selfless and altruistic
philosophy. Rather it should be considered a win-win
opportunity, The only way we can be safe and prosperous is
if we enable our neighbours to be safe and prosperous.

Anthropological understanding helps in removing:

1. Cross-cultural misunderstanding
2. Ethnic enclaves

3. The willingness 1o negotiate

4, Benevolent nation-state
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1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



5)

Read the given paragraph and answer the five questions
that follow

It seems unreasonable to expect that the world, through the
process of globalization, is moving relentlessly toward a
single, benevolent, culturally homogensous nation-state.
News media every day report cultural differences
throughout the world, with each group operating from its
own unigue cultural heritage ang narrowly shared values
and interests, |f the many cultures of the world are not
becoming a single homogeneous megaculture, a more
workable approach would be some type of multiculturalism
- that is, an official policy that recognizes the worth and
integrity of different cultures at home and abroad. Such an
approach requires the basic anthropological understanding
that culturally different people are not inherently perverse
or immoral. Rather it is possible to live together in peaceful
coeyistence, provided we understand the logic of culturally
different people and are willing to negotiate with them in
good faith and without exploitation.

The alternative to multiculturalism ks a world that is
fragmented inte ethnic enclaves: self-absorbed, provincial,
fearful, uncooperative, militant, suspicious, and mean
spirited. Multiculturalism remains the best hope for
enabling all people to get the sscurity, prosperity, and
freedon they crave and deserve. And yet-multiculturalism
should not be seen as a totally selfless and altruistic
philosophy. Rather it should be considered a win-win
opportunity, The only way we can be safe and prosperous is
if we enable our neighbours to be safe and prosperous.

Multiculturalism as'a win-win opportunity enables:

1. Globalised world

2. Logic of culturally different people
3. Provincial craving

4. Security and prosperity to all
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[Question ID = 195][Question Description = 195_7_ANTH_OCT22_S2_Q95]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- 007_PARTC_S2



1)
Read the given passage and answer the five questions
that follow

Primate research takes place either in the laboratory erin
the field. Two important ethical pointsraised in science and
field research are: researchers are obliged to conduct
themselves in a way that will allow other researchers
continue to work in a given area and researchers must
conduct their work on nonhuman primates contirually
keeping the adage ‘do ne harm’ in mind.

Biological anthropologists often observe the animals'
behaviour without interfering with it Only types of research
that might raise ethical concerns in primatology, or other
research invelving live non-primate mammals, were scored.
The types of research were categorised as: research on
captive living primates; research on wild living primates;
work on primate cadavers: work on primate museum
specimens; and work on other living nenprimate animals,

Where primate research does not take place?
1. Inzoo
2. In laboratory
3. In home
4. In Museum
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[Question ID = 196][Question Description = 196_7_ANTH_OCT22_S2_Q96]
1 [Option ID = 781]
2 [Option ID = 782]
3 [Option ID = 783]
4 [Option ID = 784]

A wnN =

2)
Read the given passage and answer the five questions
that follow

Primate research takes place either in the laboratory er in
the field. Twa impaortant ethical points raised in science and
field research are: researchers are obliged to conduct
themselves in a way that will allow other researchers
continue to work in a given area and researchers must
conduct their work on nonhuman primates continually
keeping the adage ‘do ne harm’ in mind.

Biological anthropologists often observe the animals'
behaviour without interfering with it Only types of research
that might raise ethical concerns in primatology, or other
research invelving live non-primate mammals, were scored.
The types of research were categorised as: research on
captive living primates; research on wild living primates;
waork on primate cadavers: work on primate museum
specimens; and work on other living nenprimate animals,

How many important ethical points are raised in science
and field research?

1. one

2. two

3. three

4. four
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[Question ID = 197][Question Description = 197_7_ANTH_OCT22_S2_Q97]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

3)
Read the given passage and answer the five questions
that follow

Primate research takes place either in the laboratory erin
the field. Two important ethical points raised in science and
field research are: researchers are obliged to conduct
themselves in a way that will allow other researchers
continue to work in a given area and researchers must
conduct their work on nonhuman primates continually
keeping the adage ‘do ne harm’ in mind.

Biological anthropologists often observe the animals'
behaviour without interfering with it. Only types of research
that might raise ethical concerns in primatology, or other
research invelving live non-primate mammals, were scored.
The types of research were categorised as: research an
captive living primates; research on wild living primates;
work an primate cadavers: work on primate museum
specimens; and work on other living nonprimate animals,



What de often biological anthropoelogists observe while
doing research on primates?

1. Animal behaviour

2. Hair colour

3. Bye colour

4. Nose
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[Question ID = 198][Question Description = 198_7_ANTH_OCT22_S2_Q98]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]



4)
Read the given passage and answer the five questions
that follow

Primate research takes place either in the laboratory erin
the field. Two impaortant ethical points raised in science and
field research are: researchers are obliged to conduct
themselves in a way that will allow other researchers
continue to work in a given area and researchers must
conduct their work on nonhuman primates contirually
keeping the adage ‘do ne harm’ in mind.

Biological anthropologists often observe the animals'
behaviour without interfering with it Only types of research
that might raise ethical concerns in primatology, or other
research involving live non-primate mammals, were scored.
The types of research were categorised as: research on
captive living primates; research on wild living primates;
work on primate cadavers: work on primate museum
spetimens; and work on other living nonprimate animals,

Which among the following does not come under the
category of Primatology research?

1. Primate museumi specimen

2. Primate-cadavers

3. Living primates

4. Gther non-primate animals
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[Question ID = 199][Question Description = 199_7_ANTH_OCT22_S2_Q99]
1 [Option ID = 793]
2 [Option ID = 794]
3 [Option ID = 795]
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5)
Read the given passage and answer the five questions
that follow

Primate research takes place either in the laboratory erin
the field. Two important ethical pointsraised in science and
field research are: researchers are obliged to conduct
themselves in a way that will allow other researchers
continue to work in a given area and researchers must
conduct their work on nonhuman primates continually
keeping the adage ‘do ne harm’ in mind.

Biological anthropologists often observe the animals'
behaviour without interfering with it Only types of research
that might raise ethical concerns in primatology, or other
research invelving live non-primate mammals, were scored.
The types of research were categorised as: research on
captive living primates; research on wild living primates;
work on primate cadavers: work on primate museum
specimens; and work on other living nenprimate animals,

How many types of researches were categorized in primate
research?

1. One

2. Twe

3. Three

4, Four
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[Question ID = 200][Question Description = 200_7_ANTH_OCT22_S2_Q100]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]
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1)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The average number of students studying in all the five colleges (P-T) in the year
2018 s

1.3168

2.3138

3.3148

4.3388



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

it oiet geifgemedt (-1 & oY 2018 & g el & <iga d=m feadt 22
1.3168
2.3188
3.3148
4.3388

[Question ID = 11469][Question Description = 101_0_GP26_0CT22_S2_Q01]
1. 1 [Option ID = 15873]
2. 2 [Option ID = 15874]
3. 3 [Option ID = 15875]
4. 4 [Option ID = 15876]



2)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students studying in College Q till 2020 is

1.2110
2, 2890
3.3090
4.3290



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

HeTida o H 94 2020 T@ TR @AYyl @1 Se fbad § ?
1.3110
2. 2890
3.3090
4.3290

[Question ID = 11470][Question Description = 102_0_GP26_0CT22_S2_Q02]
1. 1 [Option ID = 15877]
2. 2 [Option ID = 15878]
3. 3 [Option ID = 15879]
4. 4 [Option ID = 15880]



3)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The number of students:leaving is approximately ----- % of the number of students
taking admission in College Q from the year 2016 te 2021.

1.37

2.43

3.35

4.4



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

¥ 2016 T a4 2021 & B Helldeed Q Bie ard [aeydl &1 9%, Uds| o ard
Taeniifal ] dwe o1 Ty T aiaerd (%) 87

1.37

2.43

3.39

4. 41

[Question ID = 11471][Question Description = 103_0_GP26_0CT22_S2_Q03]
1. 1 [Option ID = 15881]
2. 2 [Option ID = 15882]
3. 3 [Option ID = 15883]
4. 4 [Option ID = 15884]



4)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

if M.and N represent the number of the students admitted in college S and Q frem
2017 to 2021 respectively, then M-N =

1. 830
2,750
3. 870
4,770



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

Gl AL A LA LA Lla L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420(720 450790 |440/820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

of% gy 2017 ¥ 84 2021 & did Helidencd S AR Q J Y99 o g jaanygl o1 g8
FOEMIRNGEIHAREITM-N=

1.830

2,790

3.870

4.770

[Question ID = 11472][Question Description = 104_0_GP26_0CT22_S2_Q04]
1. 1 [Option ID = 15885]
2. 2 [Option ID = 15886]
3. 3 [Option ID = 15887]
4. 4[Option ID = 15888]



5)
The following table shows the number of students admitted (A) and left (L)
from the five different colleges (P-T) during the years 2016- 2021. Year of
foundation of all the five colleges is 2016. Based on the data in the table,
answer the questions 1-5:

Year-wise Distribution of Students

iCollege |P Q R 5 T

Year 4 & LA LA LA LA L

2016 2250 |- 2100 |- 2400 |- 3200 |- 3100 -

2017 660 |440 (900 |500 840 (4560 880G |500 (70D 450

2018 580 420 |50 (430 {800 |500 |800 |520 |[f60 |460

2019 620 400 570 (420 (7200 450 (790 440 (820 (440

2020 760 500 BOD |380 680 (480 840 450 |880 420

2021 700 460 680 |440 |820 |560 |20 480 |850 430

The percentage increase inthe number of students studying in 2021 to that in 2016
is maximum for the college

1.8
2.p
3.1
4. R



T 2016-2021 F SR UE fafim weEiEmedt (p - T) F UHE 2T (a) T BEHT
T4 (1) FenfiaT 9 ven Pefefae ot § weitfs &1 o o=t gerfderear
T RITIAT 94 2016 1 Ao & 28 74 SifFSl & YR U, UH 1 - 5 FT I
i ;

fErenfifat @1 ad.ar faamor

LEIEEE Q R s T

G AL ola LA LA L la L
2016 2250- [2100/- |2400 (3200 [3100-
2017 660 |440/900 500|840 460[880 (500(700 (450
2018 580 |420(650 |430/800 [500(800 |520(760 |460
2019 690 |400/570 |420{720. [450[790 |440i820 |440
2020 760 |500[600 (380|680 [480/840 4501880 (420
2021 700 1460680 440|820 560920 |480i850 430

gy 2016 @i fU&T 94 2021 H AWERG faeidnl @ dem 4 ufoen 9ig fow
HeTiaeey & fau siftean 4

1.8
2.p
3.1
4. R

[Question ID = 11473][Question Description = 105_0_GP26_0CT22_S2_Q05]
1. 1 [Option ID = 15889]
2. 2 [Option ID = 15890]
3. 3 [Option ID = 15891]
4. 4 [Option ID = 15892]

Topic:- 20_GP_110CT_SH2_S2_B

1) In which mode of learnirg, learners participate in active discussion and get
immediate feedback from the teachers?
1. Synichronous mode of learning
2. Asynchronous mode of learning
3. Spatial mode of learning
4. Relativist mode of learning



STH & (g UBR |, AHSal 9ithd Uigd] § Ge4F &l 6 iR [D&@] § @nd
WP s Sl 67

1. SIUTTH & HEdIa® HER H
2. HUTH & HTEHOD UPR
1 waE UER

4. AT & OoeEE veR |

[Question ID = 11474][Question Description = 106_0_GP26_0CT22_52_Q06]
1. 1 [Option ID = 15893]
2. 2 [Option ID = 15894]
3. 3 [Option ID = 15895]
4. 4 [Option ID = 15896]

2) A child has learnt many things in his or her way with younger sibling by using
physical intimidation. if he/she uses the same tactics on peer, this indicates
1. Social learning
2. Assimilation
3. Equilibrium
4. Accomodation

BIE GO RIS SREY 7 UE 53¢ AU B2 Uniad (Us-984) & 9 U
e 4 950 ORI 91 Oraal &1 4 98 39 9fad @1 WO 30 YeU! & O S 8,
1. HHID HERH
2. STHFTHI
3. g
4, GHA

[Question ID = 11475][Question Description = 107_0_GP26_0CT22_52_Q07]
1. 1 [Option ID = 15897]
2. 2 [Option ID = 15898]
3. 3 [Option ID = 15899]
4. 4 [Option ID = 15900]

3) if a teacher neads to prepare a small animated video related to his/her topic of
teaching which softwares will be appropriate?

A, Mind Mapping tools

B. Animaker

C. Goegle Document

D. Pawioon

E. Polleverywhere

Choose the correct answer from the options given below:,

1.A and D only
2.A Cand Donly
3.B, D and Eonly
4. B and D only



ofg frd e o o E © Geftd fdl oy wide © Tl difsal oun &
@ HITREH 6l I, HFifd § § HH-4 Hiteddr 3uged gii?

A HISS JIUT eo
B, THHE

Jid Tou e fadedl 5 O U6l 9 9 -

1. HEFAARD
2. FEAA CIHRD
3. FHaA B, DIARE
4. FEAB AR D

[Question ID = 11476][Question Description = 108_0_GP26_0CT22_S2_Q08]
1. 1 [Option ID = 15901]
2. 2 [Option ID = 15902]
3. 3 [Option ID = 15903]
4. 4 [Option ID = 15904]

4) Given below are two statements

Statement I: Drupal is a paid software that enables users to upload content to
server.

Statement II: Joomla is a free and open-source content management system,

In light of the above statements, choose the most appropriate answer from the
options given below

1. Beth Statement | and Statement Il are correct

2, Bath Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

HYF - | : gUT UP Gu WIUeaiR () § ol [ SudnTdaiel @1 et IR Siadg
(FvTar) 3uas o | gaE S Bl

HY - 1| ; I U H:2e® AR Had-Hid Haatd we = WO ol
Iulad YA & HEi® 4 FREfdRad [l H 8 el 3w 9 -

1.@YT I ARG S8l e
2. Y AR 1 GHITTEd 8
3. FYF | FEl 5, dip HYA | TTad 8
4 FYF A6, i BYA 1| T8l B

[Question ID = 11477][Question Description = 109_0_GP26_0CT22_52_Q09]
1. 1 [Option ID = 15905]
2. 2 [Option ID = 15906]
3. 3 [Option ID = 15907]
4. 4 [Option ID = 15908]



5) Match List | with List Il

List . .
. List Il (Domains)
(Organizations)
I. Gut of Schoel Children Edueational
ALNITTTR
Programmes
Il. Engineering UG and PG Degree
B. CEC 2 9 d
Programmes
lll. Non-Technelegical Undergraduate
C. NPTEL
Degree Programmes
D. NIos IV. Teacher Training Programmes

Choose the correct answer from the options given below:

T.A-IV,B=-1,C-1l, D=1l
2Z2A-1ILB-1LC-1],D-1
SA-IVB-II,C-1I,D~1
4 A-1ILB-1,C-1IV,D-1

T -1 B3 -1 g P ;

O - (@) [ - (i)
A T 35 4 8 ). o @ Tt 9o © d8fte 2R sen
IR ()
TS I geiitaieT § defta g ug dien e U
' (@)

cTuMdTTg | IRENE! et st Sl s
D.UA G A TH v, Riares uiamn umme
1T.A-I,B=1,C-1II, D-II

2.A-1I,B=-1I,C~I, D-IV

3.A-IV,B=-1Il,C-1l, D=1

48-1,B=1,C-1V, D-1I

[Question ID = 11478][Question Description = 110_0_GP26_0CT22_5S2_Q10]
1. 1 [Option ID = 15909]
2. 2 [Option ID = 15910]
3. 3 [Option ID = 15911]
4. 4 [Option ID = 15912]

6) An empirical counterpart of a concept is called
1. Construct
2. Definition
3. Hypothesis
4. Variable

SGYRUN & HIHIdD Ul &l ol Ped o7
1. FfER
2. givHrET
3. @
4. TR

[Question ID = 11479][Question Description = 111_0_GP26_0CT22_S2_Q11]
1. 1 [Option ID = 15913]



2. 2 [Option ID = 15914]
3. 3 [Option ID = 15915]
4. 4 [Option ID = 15916]

7) The notion of categorical imperatives is a

. Fragmented norm
. Social distinction
3. Moral law

4, Situational ethic

FRUE =ear (Feniied gERicen) ®f SEUR & -
1. U HH 5
2. g AR
3. e fafy
4. gRRTag Hifaems

[ "

[Question ID = 11480][Question Description = 112_0_GP26_0CT22_52_Q12]
1. 1 [Option ID = 15917]
2. 2 [Option ID = 15918]
3. 3 [Option ID = 15919]
4. 4 [Option ID = 15920]

8)  Which of the following are the means of contro! in experimental research?
A. Controlling Physical Settings

B. Choice of participants

C. Statistical analysis

D. Focussing on Short-term effects

E, Sidetracking the causal factors

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3.C, Dand Eanly
4 A DandEanly

Ffoied o 9§ @F-0 e Y FEEm e aree £
A, Hifaa ufady @2 & Fafa s

B. TEyIFEl &1 gig

C. Tifensiyg ey

D. Seg@Ticies WHIEl G S Sivsd Bl

£, SR Gatl gea! o1 gelfey

e U e fawed & @ w6 W g

1. &HaT A, BARC
2. FHaE B, C AR D
3. %A C, DARE
4 FAAA DIARE

[Question ID = 11481][Question Description = 113_0_GP26_0CT22_52_Q13]
1. 1 [Option ID = 15921]



2. 2 [Option ID = 15922]
3. 3 [Option ID = 15923]
4. 4 [Option ID = 15924]

9) Given below are two statements
Statement I: Research questions are used more in studies that do not focus on the
statistical significance of results;

Statement II: Research questions normally dominate the exploratory studies.

In light of the above statements, choose the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2, Bath Statement | and Statemerit 1| are false
3, Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true

YT - | ; Y U & IUENT U =gl S fea widl & o 9ol & gieasiy
Hed W Bi5d 8l o

FYT - || : TTY T FEFGT: SUUES a3 HiUS Agaqu sd 8|
IULad DYA| & HdiD H HHiiaa [abedl H § Hol 9tk 9 -

1L@Y | AR ST g

2. FYF | AR | G 9T 8

3. FHYF | 9§, dio- &Y || g 8
4 FYF| HEAE, TP ®Y 11 gI 8

[Question ID = 11482][Question Description = 114_0_GP26_0CT22_52_Q14]
1 [Option ID = 15925]
2 [Option ID = 15926]
3 [Option ID = 15927]
4 [Option ID = 15928]

AW N =

10) Given below are two statements, one is labelled as Assertion A and the other
is abellied as Reason R.

Assertion A: The effects of history in a social research study can be fatal.

Reason R: Various events-that occur during a study may not affect the opinions and
attitudes-of respondents;

In light of the above statements, choose the most appropriate answer from the
options given below;

1. Both A and R are carrect and R is'the correct explanation of A.
2. Both A and R are correct and R is the correct explanation of A.
3. A'is correct but R is not correct.
4. A is not correct but R iscorrect.



T w5 RUTE R : T @1 M@ (4) 3R GWR @ $RY (R) g1 M &l
HTGHYA (A) : GrEIIS =Y 8- H 3iaery & UYE 99 ol 9Fd 8l

RO (R) : B 9 & GRA §H arell A vesl ¥ Swarae @ 19 #R
Hftafoat guifad 8l 81 Gadi 6 |
UL DYA| o HdiD H HHlied lddedl H 4 Gel 3w 9 ;

1.A 3R R G 981 & 3TR R, A1 98 sArET &

2. A 3R REF G981 €, Tfd1 R, A T 9ol TRA 6l ol

3. A¥8l g, dfth R Tl o) Bl
4. A 98I T8l g, Tid- R 9ol Bl

[Question ID = 11483][Question Description = 115_0_GP26_0CT22_52_Q15]
1. 1 [Option ID = 15929]
2. 2 [Option ID = 15930]
3. 3 [Option ID = 15931]
4. 4 [Option ID = 15932]

11) Communicative power is meaningful only in the network of
1. Saocial relations
2. Ethical resistance
3. Restrictive freedom
4. Political oneupmanship

T Wifea Saa Hgifed Seas & adE el 5
1. TS GeY
2. JifceTa ufeRTe
3. NS Sdadl
4, To-ToE I

[Question ID = 11484][Question Description = 116_0_GP26_0CT22_S2_Q16]
1. 1 [Option ID = 15933]
2. 2 [Option ID = 15934]
3. 3 [Option ID = 15935]
4. 4 [Option ID = 15936]

12) Referential framing connects communication media with
. Fantasy world

. Reality

. Self-regulation

[ -

P S

. Morality disruptions

Ya1e =u-fgie SdaRr grey @f Hyifea 2 O [egd oiedl a7
1. B ST
2, gy
3. A -faEgEE
4. e Ey

[Question ID = 11485][Question Description = 117_0_GP26_0CT22_52_Q17]
1. 1 [Option ID = 15937]
2. 2 [Option ID = 15938]
3. 3 [Option ID = 15939]
4. 4 [Option ID = 15940]



13) The key features of the interaction medel of communication are:
A It isatwao-way process,
B, The physical context of communication is unimpaortant.
C. The psychological context of communication is always taken into account.
D. Feedback is not & response to the message raceived.
E, It is less message-focussed.
Choose the correct answer from the options given below;

1.4 Band Conly
2.8, Cand D only
3.A CandE only
4.C, D and Eonly

Tm & e e oyl o g fadman 2
A. T8 3+ fexita ufsar g1

B. HUwYr &1 1ifgs o Heaydl Tdi 81

C. GUYT & FHIaRE 96y TR Hed [agR @4l a g
D. HfcTgi® TGl e &1 Uk el & |

E. T8 3U&TPd I HeW-disd oidl o

TR e d W aw I

1. HEAABARC
2. $HaE B, C AR D
3. FadA, CHRE
4 FEAC, DHARE

[Question ID = 11486][Question Description = 118_0_GP26_0CT22_52_Q18]
1. 1 [Option ID = 15941]
2. 2 [Option ID = 15942]
3. 3 [Option ID = 15943]
4. 4 [Option ID = 15944]

14) Given below are two statements

Statement |: In communication, codes have never been neuiral in their reception,
Statement |I: Cades always represent meanings, reflecting partiality,

In light of the above staterments, choose the correct answer from the options given

below
1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false

. Statement | is true but Statement || is-false

P

. Statement | is false but Statement [l is true



gy Rum s

@Y - | HUYU H Be I H4FeV H | Hl 9oy (FRUs) el w el
B - || : e Tod AU BT FET S0 & - 9&Ta UReiad s 8 |
ST DY & HITI® J Fgieiad [9eedl # 4 Hel 9ol 91 -

1.8 | IRFEF I T TR B
2. YT | R T I S T B
3. 941 Tl g g e 11 TEa B
4, BYF | 7100 &, g HYA (1 98l o

[Question ID = 11487][Question Description = 119_0_GP26_0CT22_52_Q19]
1. 1 [Option ID = 15945]
2. 2 [Option ID = 15946]
3. 3 [Option ID = 15947]
4. 4 [Option ID = 15948]

15) The sequence of common elements in the field of experience as related to
commuriication and identified by Wilbur Schramm is :
A, Values

B. Language

C. Attitudes

D. Beliets:

E. Culfure

Choose the correct answer from the options given below

CABCDE
LB, ECDA
.BLADEC
.CDEAB

[ —"

P

TaR © Haftd 3fyd & 47 § AR (ot wpH g
fafed oo ol @ S0 b

A TH

B. HTST

C. ffafrdl

D. HFay

E H@Bia

I feu e foped § S 98 S 9
1.A.B,C.D,E

2.B,ECDA

5BADEC
4 CDEAER

[Question ID = 11488][Question Description = 120_0_GP26_0CT22_5S2_Q20]



1 [Option ID = 15949]
2 [Option ID = 15950]
3 [Option ID = 15951]
4 [Option ID = 15952]

A wnN -

16) if A's income is 40% less than B's income, thern how much percent is B's income

more than A's income?

1.65.66
2. 64.66
5. 66.66
4. 55.66

ofG A @] 3T B @ 0 © 40% T &, dl B B A A B 3@ 4 Fad Uoza @
Bz

1.65.66

2. 64.66

1. 66.66

4.55.66

[Question ID = 11489][Question Description = 121_0_GP26_0CT22_52_Q21]
1. 1 [Option ID = 15953]
2. 2 [Option ID = 15954]
3. 3 [Option ID = 15955]
4. 4 [Option ID = 15956]

17) Consider the numbers a, b, € and d with values 54, 71, 75 and 99, respectively. Find a

number which may be subtracted from each of them such that '—; =

A1 7P a, b, c 3 d G731 & HHI: 37 914 54, 71, 75 A 99 &
g8 YBIT i Siferg fordl Tde Sl Y uem e ol ¢ = 5 W8l

[Question ID = 11490][Question Description = 122_0_GP26_0CT22_S2_Q22]
1. 1 [Option ID = 15957]
2. 2 [Option ID = 15958]
3. 3 [Option ID = 15959]
4. 4 [Option ID = 15960]

18)  Find the next term in the series given below -
6, 13, 27,55, 111, ?

N -
R
(=]
o

o
[
[
P



F<1 €1 1S e F ST UE 19 Siiod ;
6,13, 27,55, 111,17

1.233
2,166
3.223
4,222

[Question ID = 11491][Question Description = 123_0_GP26_0CT22_52_Q23]
1. 1 [Option ID = 15961]
2. 2 [Option ID = 15962]
3. 3 [Option ID = 15963]
4. 4 [Option ID = 15964]

19) The average weight of 15 men is decreased by 2 kg when one of them whose weight
is 70 kg is-replaced by a new man. What is the weight of the new man?
1.35
2.45
3.38
4.40

15 Sfgaal & ahﬂﬁaﬁ:rﬁﬁiimﬁ_mamﬁfwmﬁaﬁl TH 4 Afed
BRI UaRiud @3- W 2 foo1 92 =i g1 o1 74 oaied @7 g9 [dea el

1.35
2,45
3.38
4.40

[Question ID = 11492][Question Description = 124_0_GP26_0CT22_52_Q24]
1. 1 [Option ID = 15965]
2. 2 [Option ID = 15966]
3. 3 [Option ID = 15967]
4. 4 [Option ID = 15968]

20) Simple interest on a certain sum of maney at the rate of 5% per annum for 4 years is
Rs. 800. What will be the compound interest an the same sum for the same period
and at the same rate of interest?

1. 850

B840

B35

B62

]

B

fopdlt e <1 OR 5% a1fte 0T o O3 4 961 o feie TTRY] 34719 Rs. 800 & | I
IR 7 ST Haf SR I ST &) OX Ibdig SaTel fa-l iz

1.850

2.840

3.855

4,862

[Question ID = 11493][Question Description = 125_0_GP26_0CT22_S2_Q25]
1. 1 [Option ID = 15969]
2. 2 [Option ID = 15970]
3. 3 [Option ID = 15971]
4. 4 [Option ID = 15972]



21) Which of the following statements are sub-contraries]
A, All nurses are caring human beings.

B. Na nurses are caring human beings.

C. Some nurses are caring human beings.

D. Semie nurses are noet caring human Beings.

Choose the correct answer from the options given below;

1. A and B enly
2. A and D only
3. B and C only
4. C and D only

a5 G = 4 @Y Su-lauian® a7
A, G 7€ GE-1E@ Hae] H1E Bl 8
B. @1% Wi 7% SE-@ SE-ardl Aa el 81l 81
C. TS 79 oE-1E SHaE g-d gl 8|
D. TS 4 GE-1@ SHRar 74 Aol oidi 6
Jra feg e fawedt & 9 Sw g

1. 9a0 A 3R B

2. @ad A R D

3. FEAeARC

4. HEACIRD
[Question ID = 11494][Question Description = 126_0_GP26_0CT22_S2_Q26]
1. 1 [Option ID = 15973]
2. 2 [Option ID = 15974]

3. 3 [Option ID = 15975]
4. 4 [Option ID = 15976]

22) |dentify the formal fallacy committed in the following argument;

"All communists are revolutionists. All anarchists are revolutionists. Therefore, all
anarchists are revolutionists.”

1. the fallacy of the undistributed middle
2. The existentialist fallacy

3. llicit major

4. Nicit minor

Fifea Ofta & Si@1® o o ®I dedi-L :
JY AraR] SideERl 8k ol 99 eRE@ade] ®iaeRl sld ol e g
RSB AEG] BIaeRI sl al”

1. 3EfEaid 99 & aday

2. HfETaars) adam

3. Y UHE UG
4. HGY T UG



[Question ID = 11495][Question Description = 127_0_GP26_0CT22_S2_Q27]
1. 1 [Option ID = 15977]
2. 2 [Option ID = 15978]
3. 3 [Option ID = 15979]
4. 4 [Option ID = 15980]

23) Which of the following statements are logically equivalent?
A NoSisP

B.NoPisS

C. All S are non-P

D. All non-P are non-S

E.No'S is non-P

Choose the correct answer from the options given below;

1.4, Cand D only
2.4 Band Conly
3.B, Cand D only
4 A B CandDonly

Foifd 4 S @M § @ diide elP 4 §aqeg 6 7
A ®ISS, PRI B 5|

B, 1% P, S TEI &I 81

C. 94 s, TR-P Bl B

D. gHITR-p, RS B &1

E @15 His, TR-p A2 Bl B

el Tou e fawed| | § wEl S g

1.5ad A, C3RD
2. TAAA,BARC
3. %HaE B, C AR D
4 FHATA, B CIRD

[Question ID = 11496][Question Description = 128_0_GP26_0CT22_5S2_Q28]
1. 1 [Option ID = 15981]
2. 2 [Option ID = 15982]
3. 3 [Option ID = 15983]
4. 4 [Option ID = 15984]



24) Which of the follewing steps of inference state(s) the reason for the establishment of
the propesition according to the Classical Indian Schosol of Logic?

A. The hill has fire.

B. Because it has smoke,

C. Whatever has smoke has fire e.g. oven,

D. This hill vas smoke which is invanably associated with fire,
E, Therefore this hill has fire.

Choose the correct answer from the options given below;

. Conly
.Dand E only
. B only

o -

.C and D only

[ufafad s9aM @ @F 97 4 90 HRO™ O & H6R, dJoaied @] W] &
BN & Feoid P b -

A TUBTEl H 3 B
B, T SO Y2l B
C. =751 ®e] U1 43 il &, 96l A BIal 8, SaIetuNY deel
D. 39 UeTS! § 431 & 9 FHevarae: o ¥ Uss s s
£, 39T sH UEEST & A 2
i fgu e fawed & € 48l IR 94

1. @ad C

2.%au D IR E

3, Had B
4, BT C XD

[Question ID = 11497][Question Description = 129_0_GP26_0CT22_52_Q29]
1. 1 [Option ID = 15985]
2. 2 [Option ID = 15986]
3. 3 [Option ID = 15987]
4. 4 [Option ID = 15988]



25) Given below are two statements
Statement |: Indian Logic makes a distinction between deduction and induction,

Statement II: [ndian Lagic studies thought as such and not the forms of thought
alane,

In light of the above staternents, choose the correct answer from the options given
below

1. Both Statement | and Statement || are true
2. Both Statement | and Statemenit |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

Jeg ey Rum g,
TYF - | : URO 2R 3 e SiR 39 & 79 fais [ear s g

WY - || - YR T J e fowad @ 39ES 51 @l € 7 @ oad dad &
HHRT BT

ST DY & HITI® 4 FHiead (9ol 4 vel g g

1.7YF AR eI Tg &

2. YT | AR I Gl 3 EE B

3. FY | IO T, AfbT oY 1| 3T 2
4 Y| FTA L, T YT 1 TGI8

[Question ID = 11498][Question Description = 130_0_GP26_0CT22_S2_Q30]
1. 1 [Option ID = 15989]
2. 2 [Option ID = 15990]
3. 3 [Option ID = 15991]
4. 4 [Option ID = 15992]

26) A teacher has created a spredsheet of test marks of five students. She has written a
formula =HLOOKUP(B4, $DS&1; 8K52, 2) in cell C4 and copies this formula from cell c4
to the range C5:C8 What values will be returned by the formulae in the range
C4:C87

3 B C DEFIGHN I |k
9(27|33/40/47

fry
o |
b
pury
=
=y
w0

2

3|Name |Marks
4|Anil 43 =HLOOKUP(B4, $D51: $K582, 2)
5|Amit |85
6
=
8

Varun |25
Anita |20
Harish |10

1. A € & G and F. respectively
2.B,C, E Gand U, respectively
3.A, C E Fand U, respectively
4. B, A C Eand G, respectively



uw e 4 Urd faeniial & odign siel @1 $SUiie ouR @1 99 Sisgic § ¢4 9
H U@ I =HLOOKUP(B4, SDS1: $K$2, 2) [EraT IR 38 93 @l 99 (4 Y C5:C8 BI o A
Bl [aT1 39 c4:ca H @ Y BH 4 3F FH b 811 7

A B [€ DEEIF |G H |l
0(9]14[19(2733/40147
UGF [E D |C

=
~

(==
I

HAT 43 |=HLOOKUP(B4, SD$1: SKSZ, 2)

B[ o [0 &= [ W][r]=
73]
LA

B (10
1.59% A CEGIARE
2. 599 B, G, E G 3R U
3.3 A CEFIIRUY
4. P B A CEIRG

[Question ID = 11499][Question Description = 131_0_GP26_0CT22_52_Q31]
1. 1 [Option ID = 15993]
2. 2 [Option ID = 15994]
3. 3 [Option ID = 15995]
4. 4 [Option ID = 15996]

27) In Microsoft Office Powerpoint, ‘Smartart' provides predefined sets of diagrams for
users to use. Which of the following are types of diagrams provided by the Microsoft
Powerpoint Smarthrt feature?

A, Layer

B. Process

C. Hierarchy

D. Cycle

E. Relationship

Choose the correct answer from the options given below;

1. A, B, Cand Donly
2.B,C, DandE only
3. C and D only

4 A BandDonly



AEHigGe AipbY Uil @R §, §) A1 Edsl & g & o SEE @l
gasiRa 99 WelH &l ol FMEfkiad § 4 HIShNiR gl wige |ie Je
9 g1 Uad SI9UE & R & 4 87

A TRd TR)

B. Uiehd] (WrG9)

C. UGH&H (EH®)

D. TP (Gigid)

£, Hay (Rarmfam

i fou e famed 3 G e ST g -

1.BEAA, B, CHR D
2. 399 E, C, D IARE
3. HadCcARD

4, HIAABARD

[Question ID = 11500][Question Description = 132_0_GP26_0CT22_S2_Q32]
1. 1 [Option ID = 15997]
2. 2 [Option ID = 15998]
3. 3 [Option ID = 15999]
4. 4 [Option ID = 16000]

28) Which of the following storage media from the list A-E given below are optical
storage media only?
A, DVD RAM

B. Pen drive

C. Magnetic tape

D.SSD

E. Blue-ray disc

Choose the correct answer from the options given below;

1.B, Cand D only
2. Aand B enly
3. Dand E only
4. A and Eonly



i 31 T gl A-£ | Fafoiad @ O S9e0 Hilsdl had iHikie adsu Hisdl 8 ?
A SETSIH

B, U 3154

c. dsag ey

D. THTHS!

E = e

i fgu e fased| 5 € 981 Sw g

1. Had B, C AR D
2. HaA A AR B
1. FHEAD ARE
4 FAAAHRE

[Question ID = 11501][Question Description = 133_0_GP26_0CT22_52_Q33]
1. 1 [Option ID = 16001]
2. 2 [Option ID = 16002]
3. 3 [Option ID = 16003]
4. 4 [Option ID = 16004]

29) Which of the following are examples of fraudulent use of the Intermnet?
A, Blogging

B. Booking a cinema ticket

C. Pharming

D. Phishing

Choose the correct answer from the options given below;

1. A and B enly
2. Cand Donly
3. B and C only
4. Aand D only

$TX-E o SAgu TN & JaTetyl HEigd § ° @ | 87
A ST
B, U o491 fede g0 ool

C, PITET (GER Bige / GIfedd? 4 Mu-1g €9 4 sgard ®1 4y

D. fFRI @Ge3-c & wres 9 @il @1 giar o)

I fgu e fased| | € 98] IR g9 ;
1. 5ad A B
2. HEACIARD
3. Hadeelc
4 FHaA A AR D

[Question ID = 11502][Question Description = 134_0_GP26_0CT22_52_Q34]

1. 1 [Option ID = 16005]
2. 2 [Option ID = 16006]



3. 3 [Option ID = 16007]
4. 4 [Option ID = 16008]

30) Match List | with List 11
List | (Input Device)|List Il (Use)

A, Graphics Tablet |l To input data at an information kiesk

B, Touch Screen Il. Te input data from & product in a supermarket (at a POS)
. Bar Code Reader |lIl. To input a BIN

D. Numeric Keypad |IV. To input freehand drawing

Choose the correct answer from the options given below:

TA-WB-ILC-[,D=II
2A-NILEB-I,C-|,D-1V
s A-LB-IV,C-1I,D-]l
4 A-IVB-1,C-1I,D-1I

Tl - @l g -1 | g S

" gt g
%ﬁg mm@gﬁdif&mﬁmmalctﬂﬁ%ﬂmﬁ%ﬁm
II. GUR Hbe (TS HISE W) § &9 3AE ¥ 51
. R @18 s |1, o7 3o & fore
%waﬁ v, T Rl B & g

=it feq e faeedl H € W61 9w g

TA-WB-I,LC-1,D=II
2Z2A-NLB-ILC-I, D-IV
3.A-LB-IV,C-1I, D=1
4A-IV,B-I,C-1I, D-]lIl

[Question ID = 11503][Question Description = 135_0_GP26_0CT22_S2_Q35]
1. 1 [Option ID = 16009]
2. 2 [Option ID = 16010]
3. 3 [Option ID = 16011]
4. 4 [Option ID = 16012]

31)  Over the past 100 years, the estimated rise of global sea level is by 10 - 25 cm or
more. Which one of the following has maximum contribution in it?

1. Thermal expansion of ocean waters
2. Glacier and ice- cap melting
3. Greenland ice sheet thinning

4. Terrestrial water storage changes due to human activities



faTa 100 a6l 7, S w9z 99 7 10-25 941 91 39 e &1 9is Sisfod @1 715 8|
39 9iE | Fefaied § | e greH galiue 87

1. AETENRIG o @ aiiig TER

2. [B9Ae IR feHea &l [o=e

3. FATS Pl SBicl Gd Bf a1He

4, AMAIY FEGEM] @ BRY gl od 9994 1 gacd

[Question ID = 11504][Question Description = 136_0_GP26_0CT22_52_Q36]
1. 1 [Option ID = 16013]
2. 2 [Option ID = 16014]
3. 3 [Option ID = 16015]
4. 4 [Option ID = 16016]

32 A ; ;
) Aerstion process is efficiently used to remave

1. Persistant Organic Pollutants
2. Volatile Organic Compounds
3. Metals

4. Inorganic ions

FaTaiea 9 © ol ger @ [T aiad wisha &1 Gaiaigd® qanT il sl 82
1. Favedl sEF® uge®
2. STEE SreH® DS

o

I
4, FFEAD AT

[Question ID = 11505][Question Description = 137_0_GP26_0CT22_S2_Q37]
1. 1 [Option ID = 16017]
2. 2 [Option ID = 16018]
3. 3 [Option ID = 16019]
4. 4 [Option ID = 16020]

33) What is the correct order of Risk assessment due to exposure of some chemicals to
the humans
A, Dose Response Assessment

B. Exposure Assessment
C. Risk Characterization
D, Hazard Identification
Choose the correct answer from the options given below

CABCD
OB CA
.G DA B
DA B, C

[ -

P



qal H o WHEEl & IR & GieH-He0d 51 Hal HIEH FHidigd 3 9 ®iF g
&

A TP 3T SHida

B, TETH 3o

C. SiITEH -5

D. ¥4 & UgdH

i fgu e faeed| 5 9 el S g

ABCD
0BG A
LG DA B
DA B, C

1,5

S ]

[Question ID = 11506][Question Description = 138_0_GP26_0CT22_S2_Q38]
1. 1 [Option ID = 16021]
2. 2 [Option ID = 16022]
3. 3 [Option ID = 16023]
4. 4 [Option ID = 16024]

34) National Disaster Management Authority (NDMA) works under the aegis of
1. Ministry of Earth Science (MoES)
2. Ministry of Home Affairs (MHA)
3. Ministry of Environmental Forest and Climatic Change (MoEFIC)
4, Department of Space- Indian Space Research Organisation ([ISRO)

AP HUE] YA UITYeRTl (GTS1eAY) Mafciad 4 4 fus qaieyF 3 & @xd &

1. g fas Haed (Enaiee,

2. 7[g HAITHY (THEY)

3. g9iaYul 94 UF Sioarg giNad- Sed (EEesuna)
4, A faur - yRdig Saie IEyE 96T G99)

[Question ID = 11507][Question Description = 139_0_GP26_0CT22_52_Q39]
1. 1 [Option ID = 16025]
2. 2 [Option ID = 16026]
3. 3 [Option ID = 16027]
4. 4 [Option ID = 16028]



35) Which of the following statements are correct in this context of energy crops ?
A. They are fast growimg plants
B. They require specific season to grow
C. They necessarily require fertile land to grow
D. They tan be cenverted into gaseous and liquid fuel
E. They generally have high calorific value
Choose the correct answer from the options given below;

1.4, Dand Eanly

2. A B Cand Donly
3.8, C, Dand E only
4.C, D and Eonly

Feligrdl BHT b HaH A FaEfiad ouHl F P 4 ¥l 6 ?

A, 9 dofl @ 954 a1 URU B

B. 3 i o [o¢ 1a9IY Hd & Havadhal sial 8

C. 3% gfs & fou s1esoe w0 9 3@ uffy & snamaar
gt 81

D.d 3¢ U/ ok TXa 39 § Suiafid &l 9@ o

E. GTHIT: 3] el 91 HiS BT e

Jrd R e fapadl 4 W8 S
1. 690 A DARE
2. Fad A, B, CARD
3. @98, C, D3IRE
4 FaECDANE

[Question ID = 11508][Question Description = 140_0_GP26_0CT22_S2_Q40]
1. 1 [Option ID = 16029]
2. 2 [Option ID = 16030]
3. 3 [Option ID = 16031]
4. 4 [Option ID = 16032]

36) The National Knowledge Commision recomended the establishment of
1. 50 National Universities
2. 50 technological universities
3. 50 universities of science education
4, 50 universities of yega and naturopathy

P T A | FEiEd J 9 ey @ e ol e e 2

1. 50 ¥ fayfaeey

2. 50 Uiy faufaees

3. 50 fagm [N faxfaeaa

4. 50 TR AR Wipid® (did faxfaerey



[Question ID = 11509][Question Description = 141_0_GP26_0CT22_S2_Q41]
1. 1 [Option ID = 16033]
2. 2 [Option ID = 16034]
3. 3 [Option ID = 16035]
4. 4 [Option ID = 16036]

37)  According te UGC, which of the following are objectives of comunity colleges ?
A, To provide skill based education to the students of higher education.
B, To make higher education relevant to the learmer and communities,
C. To provide vertical mobility for pursuers of higher education,
D. To open vistas of employment.
E. To train youngsters in traditional skilll sectors:
Choose the correct answer from the options given below;

1.A B, Conly
2.8, C, Donly
3.C D Eonly
4 A D Eonly

fasfaed sEaE UM & R s Aeiagedl & 3w Feffgg 7 9
THET B

A. 3= 16T & faeqfifal &) Siere e fRIen wam &1

B, I f2iaT &1 gl R Ugey & o e E

C. I fR1ef1 Wit e drel faenidal & fog Seaier Tiaeiicrd wer &l

D. TR & HIER GieH]

E. Ga13{] @I GRERETE SIEd &5 H Ui S

T e d d W T

1. BEAA BARC
2. HAAE, C HR D
3.®AAC, D ANE
4, HIAA, D AR E

[Question ID = 11510][Question Description = 142_0_GP26_0CT22_S2_Q42]
1. 1 [Option ID = 16037]
2. 2 [Option ID = 16038]
3. 3 [Option ID = 16039]
4. 4 [Option ID = 16040]



38) Given below are two statemeants

Statement 1: Skill based education is focused on the idea that it may be learned
better if it is practised in real life.

Statement Il: Non- conventional higher education is totally based on the teaching-
learning activities that are offered on campus with fixed - time classes.

In light of the above statements, choogse the correct answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
5. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true

g e RumE.

T - | - BITE ARG R8T 59 e & &0 & 6 oft s opom orefas Siga
o fea ST g, O 39 9ol dud § 9l o Gedl gl

&Y - || ; IRURERS 3= e off ave e d9d4 Y ot w
renfea g & fore Ruiie-oma ® darfe ofH-9e sanef 8 1eH o s gl

Sulad yH! & e o FRufafad e § 9 98l S 3

.Y I AR NGAITT 8

2. FYT | AR G 2EE R

1. P G T, ofco ®YA || T 8
4. FUY| HEAE, OoI P47 11 I8

[Question ID = 11511][Question Description = 143_0_GP26_0CT22_S2_Q43]
1. 1 [Option ID = 16041]
2. 2 [Option ID = 16042]
3. 3 [Option ID = 16043]
4. 4 [Option ID = 16044]

39) Which of the following ancient universities developed connaction with the viharas?
A, Nalanda

B. Valabhi

. Takshashila

D. Navadeep

E. Odantapuri

Choose the correct answer from the options given below;

1. A and C only

2. A, C and D only
3.A B Cand Eonly
4. A Band Conly



Fraifsd & & oo Wi feufdenerdl &1 i faerT & dey d gam
A e

B, FemiHl

c. defen

D.FggM™

E, 3igiagdl

e U e fased | € |81 SR 9 -

1. HEFAARC

2. FHEAA CIHRD
3. PaAA, B CHRE
4. FEAABHARC

[Question ID = 11512][Question Description = 144_0_GP26_0CT22_52_Q44]
1. 1 [Option ID = 16045]
2. 2 [Option ID = 16046]
3. 3 [Option ID = 16047]
4. 4 [Option ID = 16048]

40) Which of the ancient places of higher learning developed in connectien with
temples and became centres of community life in the places where they were
situated?

A, Benaras

B, Navadeep

C. Odantapuri

D. Kanchi

E. Jagaddala

Choose the correct answer from the options given oelow;

1. C and D only

2. A Band Donly
3. A and D only

4 A B CandEaonly
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1.HEACARD
2. FEAA BHRD
3. HaA A HRD
4. PATA, B CHRE

[Question ID = 11513][Question Description = 145_0_GP26_0CT22_S2_Q45]
1. 1 [Option ID = 16049]
2. 2 [Option ID = 16050]
3. 3 [Option ID = 16051]
4. 4 [Option ID = 16052]

Topic:- 20_GP_110CT_SH2_S2_C

1)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was interiwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude forny of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
thearies were formulated sesking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process to occur.
They should speed up the reduction of population growth by more dirsct means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asia. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between economic
growth and population contrel, They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations, Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it



What made the Malthusian views on population logk inevitable?
1. War on poverty
2, Proliferation of statements on population
3. unrefined empiricism
4. Justification on unrelated grounds

fArifera Terrw @1 ufdw 3T U ¥, 46 ¥ 50 F IS ST ;
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[Question ID = 11514][Question Description = 146_0_GP26_0CT22_S2_Q46]
1. 1 [Option ID = 16053]
2. 2 [Option ID = 16054]
3. 3 [Option ID = 16055]
4. 4 [Option ID = 16056]



2)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

IModels relating to different variables of demography formed the basis of

1. Population distribution

2, Attempts to create new population concepts,
3. Effects on poverty elimination.

4, Development policy formulation,
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1. 1 [Option ID = 16057]
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3)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The western experience was that development would bring in

1. Racial equality

2. Decrease in population

3. The end of discussions on racism,
4, International focus on Asia.
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1. 1 [Option ID = 16061]
2. 2 [Option ID = 16062]
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4)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The new tone of academic discussion was related o

A, Economic growth and population control

B. Resource mebilisation and output

C. Racial factors and demography,

D. The pre-accupation of the west with population control.

Choose the correct answer from the options given below:

1.Aand B
2.BandC
3.Cand D
4. Aand C
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4. 4 [Option ID = 16068]



5)

Read the passage and answer the given questions from 46 to 50,

The war on poverty earlier was intertwined with the population problem.
Statements and positions regarding population began to proliferate. In many
instances, a crude fornt of empiricism was followed, it made Malthusian views and
prescriptions - inevitable. This is despite the experts making serious attempts to
conceptualise the effect of demographic faciors on development models and
theories were formulated seeking to relate various variables and to provide a basis
for policy and programme formulation. As the experience of the West suggested, it
was hoped that population growth rates would begin to fall as the countries
developed. But as many warned, countries-could not wait for this process ta occur.
They should speed up the reduction of population growth by more dirset means.
To be sure, this-preoccupation with population had existed for several decades,
especially in relation to Asla. it was a central topic in discussion on race and racism.
But the scale and form that the discussion took were new. The discussions held in
academie circle or in the ambit of the pascent international organisations also had
a new tone, They focussed on topics such as relationship between econemic
growth and population control. They also discussed topics such as demographic
experience of rich countries and its possible impact on poor nations. Now the need
is-a new view of population, with new scientific and technological instruments to
mianage it

The passage, in the final analysis, suggests

1. A new scientific:management of population control.

2. The study of demegraphic dividends in the west.

3. The rejection of all previous studies on population control,

4. The linkage of racism, poverty and population with academic solutions.
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